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Py Py 3729 3730 3731
) FRITN | RIMTB | s 7| %m317B| BHTA] EBHTE| ERIITA| KEITE
B§$% B R R R R R
KN (BZE) =48 (BB | Kk (B % [_NU0OT | 24,300 700 24300 700 800 20.700
[ 20,000 000 20,000 000 100 100
15,500 600 16,600 800 600 800
R (FRE) % [_NU002 | 15500 600 15,500 600 600 800
[ 22.700 1.700 22.700 1.700 900 800
25,900 800 25.900 800 20.300 300
1BRE=h 4% (IRE) BER .300 .300 .300 .300 .300 .300
[t 300 300 300 300 300 300
[t 300 300 300 300 300 300
[t 300 300 300 300 300 300
[t 300 300 300 300 300 300
300 300 300 300 300 300
R EH) 5 [ 300 300 300 300 300 300
[t 300 300 300 300 300 300
300 300 300 300 300 300
300 300 300 300 300 300
300 300 300 300 300 300
300 300 300 300 300
RRCHE)=R1E RR CHE) & 900 30.200 600 600 600
900 30.200 36.100 100 36.100
RiER 33.900 30.200 33.900 30.200 3.900
5.900 32.200 35.900 32.200 7.400
RRCHE)=E& Ha CHE) % 0.900 27.200 35.600 33.600 600
BT 2.900 29,200 2.900 29,200 400
KiE () =R 18 Kl (P75 % 7.900 4.600 3.200 1.700 200
GiE % 7.900 4,600 7.900 4,600 900
M= GRE) N EE 400 7.300 1.400 7.300 1.400
S0 R % 400 7.300 1.400 7.300 1.400
BEE (PR =H4R (BB B E (PH) R 28 .600 22.200 23.600 22.700 23,600
28 600 3.600
28 600 100
28 600 100
RE) £ 28 .800 .300
28 600 35.400
28 600 23.600
28 600 23.600
=304 (GGRE) [EIES 28 600 29.400
S0 R % 28 100 30.100
SRR (IR =R1E RGB! 28 .600 .900
28 .200 .200
28 .200 .200
28 .200 .200
28 600 .900
28 600 .900
28 600 .900
RiER 28 600 .900
28 600 .900
28 600 .900
28 600 .900
28 .900 .200
28 .900 .200
28 600 .200
ROERT == G IE RS 28 .600 .900
28 600 .900
28 .900 .900
28 .900 .900
28 500 800
28 7.500 7.800
28 7.500 7.800
28 7.500 . . 7.800
EER 28 8.600 900 8.900 200 8.900
28 8.600 7.900 8.900 .200 8.900
28 7.500 6.500 7.800 800 7.800
28 7.500 6.500 7.800 800 7.800
28 600 7.000 .900 300 .900
28 600 7.000 .900 7.300 .900
28 600 7.000 .900 7.300 .900
28 600 7.000 .900 7.300 .900
R RE) =AKS | ks (RE) 5 28 100 7.300 .200 7.400 .200
AKBF 28 300 6.300 400 6.400 400

JTA



MERJE5 EERGA1BERS)

B A A 2018/01/23 _~
P Py 471
- 5BHMTA| %£18417B ETA| AITE
B;% ERE | ERE
KR (BER) =i (FRE) | KBr (BadE) 5 | 20.000 .000
[ 200 200
700 800
REE R | .700 .800
[ 700 700
300 300
1BRE=h 4% (IRE) BER .500 600
[ 500 600
[ 500 600
[ 500 600
[ 500 600
500 600
REmE R | .500 .600
[t 500 600
500 600
500
500
500
RRCRE)=R1E HR(PE) R .900
900
AER .900
900
RRCHE)=E& Ha CHE) % 29.900
BT 31.900
KR (&) =F 18 Al (BH7E) 26,800
GiE % 26.800
M= EE () N7 28.500
S0 R % 28,500
BEE (PR =H4R (BB B E (PH) R 28 .700
28 700
28 700
28 700
RE) £ 28 .800
28 700
28 700
28 700
FEL=548 () Bl LLI 5% 28 .400
S0 R % 28 500
SRR (IR =R1E RGB! 28 .200
28 .200
28 .200
28 .200
28 .200
28 .200
28 .200
RiER 28 .200
28 200
28 200
28 200
28 .200
28 .200
28 .200
ROERT == G IE RS 28 .000
28 000
28 000
28 .000
28 600
28 7.600
28 7.600
28 7.600 .
HE 5 28 8.000 200
28 8.000 7.200
28 7.600 6.600
28 7.600 6.600
28 000 7.200
28 000 7.200
28 000 7.200
28 000 7.200
HREB)-AKE [ E@E) * 28 700 7.600
AKBF 28 6.000 5.700

JTA



MERJE5 EERAAIBEES)

B A A 2018/01/23 _~
P Py 4/9
- 5BHMTA| %£18417B FETA| AITE
B;% ERE | ERE
KR (BER) =i (FRE) | KBr (BadE) 5 | 20.000 .000
[ 200 200
700 800
REE R | .700 .800
[ 900 800
20.300 300
1BRE=h 4% (IRE) BER .500 600
[ 500 600
[ 500 600
[ 500 600
[ 500 600
500 600
REmE R | .500 .600
[ 500 600
500 600
500
500
500
RRCRE)=R1E HR(PE) R .900
900
AER .900
900
RRCHE)=E& Ha CHE) % 29.900
BT 31.900
KiE () =R 18 Kl (P75 % 19.900
i 17.400
M= EE () N7 25.300
S0 R % 25.300
BEE (PR =H4R (BB B E (PH) R 28 .700
28 700
28 700
28 700
RE) £ 28 .700
28 700
28 700
28 700
FEL=548 () Bl LLI 5% 28 .400
S0 R % 28 400
SRR (IR =R1E RGB! 28 .200
28 .900
28 .900
28 .900
28 .200
28 .900
28 7.900
RiER 28 .200
28 200
28 .200
28 .900
28 .200
28 .200
28 .200
ROERT == G IE RS 28 .000
28 000
28 700
28 7.700
28 7.600
28 7.300
28 7.300
28 7.300 .
HE 5 28 8.000 200
28 8.000 7.200
28 7.600 6.600
28 7.600 6.600
28 000 7.200
28 000 7.200
28 000 7.200
28 700 6.900
HREB)-AKE [ E@E) * 28 7.600 7.300
AKBF 28 5.500 5.400

JTA



MEB8E5| BER (4A27~30BEES)

EEBAE 2018/01/23 ~
P PR 4/27 4/28 4/29 4/30
- REION| RBITE | A | £EHTE | REITA| £RITE| REHTA| £RITE| REHTA| ERITE
wr b | A ER@ | EMa | ENm | #A@ | BAE | ERE
R ()~ (e | KR () 5 | 800 33.600 600 33.600 600 20000 1000
[ .200 22.300 .300 22.300 .300 18.100 .100
.100 20.200 .200 16.600 .900 20.200 .200
FrER NN 1000 18.000 500 18.000 500 22.400 400
[ 20.200 20.200 .200 20.200 .200 23.800 .700
21.300 21.300 20.200 21.300 20.200 0.400 29.300
B GH) e 16.800 26.600 25.800 26.600 800 500
[ 16.800 26.600 26.600 .800 .300
[ 20.200 .200 .200 .600 .300
[ 20.200 .800 .800 .600 .300
[ .700 .400 .400
.900 .000
FABE || 200 200
[ 700 700
20.100 .700
20.500 .500
20.500 .500
9.500 20.500
FRREEE | RAAER 7.200 57,000 ]
6.200
P 7.100
6.900
R (HE)=Ed W CHE) 4,200
e 33.900
KR (BIEE) =R 18 K (RAP) % 25.900
HiE# 30.000
AR T 32300
SR (FRER) 28,500
EEE (FE) A AR (PED % 28 7.000
28 7.000
28 .700
28 .900
AT % 28 700
28 29.200
28 29.200
28 29.200
A=A R EE 25 31500
SR (FRER) 28 30.600
FROPEEE | AR5 | 28 200
28 .200
28 .200
28 .200
28 .200
28 .200
28 .200
TER 28 200
28 .200
28 .200
28 .200
28 .200
28 .200
28 .200
AAHEE | FRBE 2 500
28 .000
28 .000
28 .000 X .
28 .600 400 400 7.600
28 7.600 7.400 7.400 7.300
28 7.600 7.400 7.400 7.300
28 7.600 X 7.400 7.400 7.300
EEHHE 28 8.000 200 7.200 7.200 700
28 8.000 7.200 7.200 7.200 700
28 7.600 6.600 6.600 6.600 .100
28 7.600 6.600 6.600 6.600 .100
28 .000 7.200 7.200 7.200 700
28 .000 7.200 7.200 7.200 700
28 .000 7.200 7.200 7.200 700
28 .000 7.200 7.200 7.200 700
RGBT -AKE | GEmB® 28 700 7,600 7.800 7.800 600
AKEF 28 6.000 5.700 5.700 5.700 6.800

JTA



rEJEE EERGA1I~4BERESD)

EEBAE 2018/01/23 ~
— — 577 577 573 574
- REION| ABITE | A | REsTE | REITA] £RIE| REHTA| £RIE| REHTA] ERITE
srbm | ®RE | usm | saam Ena | EAm | #Am | ERE
KR (B#8) =048 (ARER) | KPR (BSFE)F [_NU0OT | 20.000 .000 .800 33.600 .600 33.600 .600
[ .200 .200 22.300 .300 22.300 .300
.100 .600 20.200 20.200 .200
FrEE(RER) R | _NU002 | .900 .400 17.300 18.800 .300
[ 23.800 .700 20.200 20.200 .200
30.400 29.300 21.300 21.300 20.200
1= (RE) EES 20.500 .000 26.600 26.600 25.800
[ 20.500 .000 26.600 26.600
[ .800 .300 .200 .200
[ .700 .200 .800 .800
[ .200 .200 .200 .200
.700 .000 .000
FABE || 100 00
[ 700 700
25,700 .700
25.700 22.500
26.600 2.500
26.600 1.500
FRREEE | RAAER 7.200 7000
6.200 7.000
REH 4,800 4,900
7.000 39.600
R (HE)=Ed W CHE) 4,200
e 3.200
KR (BIEE) =R 18 K (RAP) % 28,100
HiE# 46.400
AR T 79500
SR (FRER) 0.500
EEE (FE) A AR (PED % 28 7100
28 7.100
28 1.700
28 9.600
AT % 28 20500
28 .500
28 .500
28 .500
A=A R e 2 500
SR (FRER) 28 3,600
FROPEEE | AR5 | 28 7,900
28 .900
28 .900
28 .900 .
28 .900 .900
28 7.900 7.900
28 7.900 7.900
TER 28 7.900 7.200
28 7.900 7.200
28 7.900 7.200
28 7.900 X 7.200
28 8.900 .900 8.200
28 8.900 7.900 8.200
28 7.900 .900 7.200
AAHEE | FRBE 28 7700 500 300
28 7.700 .300 .300
28 7.700 .300 .300
28 7.700 .300 .300
28 7.300 400 400
28 7.300 7.400 7.400
28 7.300 7.400 7.400
28 7.300 7.400 7.400
EER 28 7.700 900 7.200
28 7.700 .900 7.200
28 7.300 .300 6.600
28 7.300 .300 6.600
28 7.700 .900 7.200
28 7.700 .900 7.200
28 7.700 .900 7.200
28 7.700 .900 7.200
PRBR)=AKE hiR (FRER) 28 7.600 .800 7.800
AKEF 28 5.500 5.400 5.700

JTA



rEBEI5 EER(GAS~THRRESD)

EEEAA 2018/01/23 _~
PRy A 575 576 577
) FRITN| REIMTB | s 7| %msM7B| BITA] BT | ERIITA| K@ITE
KR () @ (8 | A (Bm) % |1 20700 700 | 20700 700 | 20,000 000
[ 22,600 600 | 22,600 600 200 200
19.900 900 | 19,000 900 700 800
8 (E) % |_Nuoo2 | 22,400 400_| 22,400 400 700 800
[ 28000 | 26900 | 28,000 | 26900 900 800
3.800 3,500 3,800 3500 | 20300 300
B ) I 800 300 800 300 500 600
[ 800 300 800 300 500 600
[ 600 500 600 500 500 600
[ 600 500 600 500 500 600
[ 000 200 200 500 600
300 400 400 500 600
Er e e 900 600 500 600
[ 20400 200 500 600
25,700 25,200 500 600
25.700 25,200 500
26.600 26,100 500
26.600 26,100 500
RR(PE)=R1E RRCHA) 5.900 33.900 .900
4,900 32,000 900
FER 4,800 43.800 900
7,000 55,400 900
R (HE) -8 e CHEE 32900 30,000 | 20,900
B 53,200 51,000 | 31900
AR (BB -RE i (FEP9) % 27.900 26,300 | 19.400
HiE 46.400 45300 | 26.800
A= (A8 NS 29500 26,400 | 25300
ETIER X 40,500 40400 | 25300
AR (PER) =08 ()| BHE (R R 28 27.100 26.700 22.700
28 27.100 26,700 2.700
28 17.100 15.900 5.700
28 20900 22,400 5,700
FRE) ® 28 20,600 20,100 7.100
28 500 36200 | 22700
28 500 36,200 | 22700
28 500 36,00 | 22700
L= (A8 NS 28 500 26,500 | 25400
ETIER I 28 600 33,500 | 25400
(R =RE B R | 28 .200 1.200 .200
28 200 200 900
28 200 200 900
28 200 200 900
28 200 200 200
28 200 7.200 900
28 200 7.200 7.900
FER 28 900 7.600 200
28 900 7.900 200
28 900 7.900 200
28 900 7.900 200
28 600 5.000 200
28 600 8.000 200
28 900 7.900 200
ROERT == G IE RS 28 .000 7.200 .000
28 000 7.200 000
28 000 7.200 700
28 000 7.200 7.700
28 600 600 7.600
28 7.600 600 7.300
28 7.600 600 7.300
28 7.600 600 7.300 .
EER 28 700 300 5,000 200
28 700 . 300 5.000 7.200
28 100 400 400 7.600 6.600
28 100 7.400 7.400 7.600 6.600
28 700 300 300 000 7.200
28 700 300 300 000 7.200
28 700 300 300 000 7.200
28 700 300 ; 300 000 7.200
G =AKE | 0 T 3 28 700 600 700 600 600 7.300
ETE] 28 6.800 5,000 6.800 5.000 6.000 5.700

JTA



[R——5%1G1EER(4A2~8BEES)

WEEAA . 2018/01/23 ~
4/2-8
F# A—N—%1§
= B2 | ABR [ [EER o
S| mEIE u
KRR (BE7E) =348 (ARER) | KPx(BIF)F |[_NU0OT 55 18.000 53% |#+:19.800
55 300 76%
55 .500 67%
ol GV % 55 500 | 67%
55 .100 68% | H:16.700
55 .300 52% | H:20.200
1RRE=i0 48 (RE) EEEES 55 .300 60%
55 .300 60%
55 .300 63%
55 .300 63%
55 .300 63%
55 .300 63%
ol GV % 55 300 | 634
55 .300 63%
55 .300 63%
55 .300 60%
55 .300 60%
55 .300
RE(HE)=H1E HRE(CHHE) % 55 26.000 % +:27.600. H:25.000
U 55 26.000 £ +:27.600. H:25.000
RiE%R U 55 23,900
U 55 29.000 56% | H:29.700
RRECAB)=E# S5 CRIE) % U021 | 55 24,700 60%
= U022 55 26.000 58% | H:26.700
KBz (BS#E) =R 1E PN U083 55 .300 4!
Hiag U086 55 .300 4
INA=REE (BRER) NI uo37 55 .600 7! %+ H:23.800
PR (FRER) U 55 .600 7! %+ H:23.800
BEE (PED) =94 ()| & 2 (PER) [ NU 55 000 | 52%
U 55 .000 52%
U 55 .000 68%
U 55 .000 68% |#£:17.400
GV % | _NU 55 000 | 684
U 55 .000 52%
U 55 .000 52%
U 55 .000 52%
=4k (3ER) [FATE 55 .300 45% |4 +:25.000
PR (FRER) 55 .300 45%
EXEE St il GBI R 55 6700 | 74%
55 7.700 70%
55 7.700 70%
55 1.700 70%
55 .700 74%
55 .400 75%
55 .400 75%
RiEH 55 .700 74%
55 .700 74%
55 .700 74%
55 .400 75%
55 700 70%
55 1.700 70%
55 .700 74%
G =B & G % 55 900 | 65%
55 .900 65%
55 .900 65%
55 .900 65%
55 .200 68%
55 .900 70%
55 .900 70%
55 .200 68%
S 55 .900 65%
55 .900 65%
55 .200 68%
55 .200 68%
55 .900 65%
55 .900 65%
55 .900 65% .
55 .600 66% = .900
R BB =AXS ShiE (FRER) 55 .300 48% = .600
AKEF 55 .800 60% = .100

JTA



[R—N—%FGIHEERAA10~15BEED)

EEEAA . 2018/01/23 ~
4/10-15
P A%’
=40} B2 AR an FEW o
il TS u
KR (BSE) =i#E (FRE) | KB (BSFE)F | _NU0OT | 55 18.000 5. #1:19.800
55 900 7
55 500 | 6
RE) % 55 .500 6
55 100 | 68% | H:16.700
55 300 | 52% | H:20.200
1BRE=h 4% (IBE) EEEES 55 .300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300
R CHE)=R1E R CHE) % 55 26,000 % £:27.600. H:25.000
U 55 26,000 % £:27.600. H:25.000
RiER U 55 23.900
U 55 29.000 | _56% | H:29.700
RRCHE)=E& Wa CHE) % | NU021 | 65 24.700 | 60%
BT U022 | 55 26,000 | _58% | H:26.700
KiE (@) =R1E il (F75) % | NU0B3 | 65 7900 | 67 £:19.300
Al U086 | 55 900 |71 9.300
M= GRE) N EE U037 | 55 600 |57 £ H:23.800
g B % | NU 55 600 |57 £ H:23.800
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68%
U 55 000 | 68% |2:17.400
RE) £ U 55 .000 68%
U 55 000 | 52%
U 55 000 | 52%
U 55 000 | 52%
FEIL=h48 () Bl LU 5 55 .300 45%
S0 R % 55 300 | _45%
W RH) =H1E RE) £ 55 6.400 75%
55 7.700 70%
55 7.700 70%
55 7.700 70%
55 400 75%
55 400 75%
55 400 75%
AlEs 55 400 75%
55 400 75%
55 400 75%
55 400 75%
55 400 7%
55 7.400 7%
55 400 75%
SEE(BRE) =TS G IE IS 55 .600 66%
55 600 66%
55 900 65% |k
55 900 65%
55 900 70%
55 900 70%
55 900 70%
55 200 68%
HE 5 55 600 66%
55 600 66%
55 900 70%
55 900 70%
55 600 66%
55 600 66%
55 600 66%
55 600 66% .
SRR -AKE | i (w5 55 300 48% | % T H:6.600
AKBF 55 800 60% |t H:5.100

JTA



[R—N\—%FGIEER(AA16~2BEFEN)

EEEAA . 2018/01/23 ~
4/16-22
P A= "—%’
=40} B2 AR an FER o
il TS u
KR (BSE) =i#E (FRE) | KB (BSFE)F | _NU0OT | 55 18.000 5. #1:19.800
55 900 7
55 500 | 6
RE) % 55 500 6
55 100 | 68% | H:16.700
55 300 | 52% | H:20.200
1BRE=h 4% (IBE) EEEES 55 .300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300
R CHE)=R1E R CHE) % 55 26,000 % £:27.600. H:25.000
U 55 26,000 % £:27.600. H:25.000
RiER U 55 23.900
U 55 29.000 | _56% | H:29.700
RRCHE)=E& Wa CHE) % | NU021 | 65 24.700 | 60%
BT U022 | 55 26,000 | _58% | H:26.700
KiE (@) =R1E il (F75) % | NU0B3 | 65 7900 | 67 £:19.300
Al U086 | 55 900 |71 9.300
M= GRE) N EE U037 | 55 600 |57 £ H:23.800
g B % | NU 55 600 |57 £ H:23.800
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68% | £:14.800
U 55 000 | 68% |%:17.400. T:14.800
ARG % [_NU 55 000 | 68% | H:14.800
U 55 000 | 52%
U 55 000 | 52%
U 55 000 | 52%
=304 (B E) FL5E 55 300 | _45% |&£:25000
S0 R % 55 300 | _45%
W RH) =H1E RE) £ 55 6.700 74%
55 7.700 70%
55 7.700 70%
55 7.700 70%
55 700 4%
55 400 75%
55 400 75%
AlEs 55 700 74%
55 700 4%
55 700 4%
55 400 75%
55 700 70%
55 7.700 70%
55 700 4%
SEE(BRE) =TS G IE IS 55 .900 65%
55 900 65%
55 900 65%
55 900 65%
55 200 68%
55 900 70%
55 900 70%
55 200 68%
HE 5 55 900 65%
55 900 65%
55 200 68%
55 200 68%
55 900 65%
55 900 65%
55 900 65% X
55 600 66% |-t H:6.900
SRR -AKE | i (w5 55 300 48% | % T H:6.600
AKBF 55 800 60% |t H:5.100

JTA



TR—N\—%FGIHEER(4A23~26BEFEN)

EEEAA . 2018/01/23 ~
4/23-26
P A= "—5%’
=40} B2 AR an FEW s
il TS u
KR (BSE) =i#E (FRE) | KB (BSFE)F | _NU0OT | 55 18.000 5.
55 900 7
55 500 | 6
RE) % 55 500 6
55 100 | 68%
55 300 | 52%
1BRE=h 4% (IBE) EEEES 55 .300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300
R CHE)=R1E R CHE) & 55 26,000
U 55 26,000
RiER U 55 23.900
U 55 29.000 | 56%
RRCHE)=E& Wa CHE) % | NU021 | 65 24.700 | 60%
BT U022 | 55 26.000 | 58%
KiE (@) =R1E il (F75) % | NU0B3 | 65 7900 | 67
Al U086 | 55 900 |71
M= EE () N7 U037 | 55 .600 57
g B % | NU 55 600 |57
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68%
U 55 000 | 68%
RE) £ U 55 .000 68%
U 55 000 | 52%
U 55 000 | 52%
U 55 000 | 52%
FEIL=h48 () Bl LU 5 55 .300 45%
S0 R % 55 300 | _45%
W RH) =H1E RE) £ 55 6.400 75% | H:6.700
55 7.400 71% _|A:7.700
55 7.400 1% _|A:7.700
55 7.400 1% _|A:7.700
55 400 75% 6.700
55 400 75%
55 400 75%
RiER 55 400 75% | H:6.700
55 400 75% | B:6.700
55 400 75% | B:6.700
55 400 75%
55 400 7% 7.700
55 7.400 71% | B:7.700
55 400 75% 700
SEE(BRE) =TS G IE IS 55 .600 66% 1:6.900
55 600 66% | :6.900
55 600 66% | A:6.900
55 600 66% | A:6.900
55 900 70% | F:6.200
55 900 70%
55 900 70%
55 900 70% | A:6.200
HE 5 55 600 66% 900
55 600 66% | H:6.900
55 900 70% | F:6.200
55 900 70% 200
55 600 66% | H:6.900
55 600 66% | 5:6.900
55 600 66% 900
55 600 66%
SRR -AKE | i (w5 55 300 48%
AKBF 55 800 60%

JTA



[R——5%1BEER(GAB~13AEED)

WEEAA . 2018/01/23 ~
5/8-13
F# A—N—%1§
o B2 | ABR [ [EER prom
S| mEIE n
KR (BI78) =4 (V%) | KBk (B%) % | NUOOT | 65 18000 | 53% [&+:19.800
55 900 7
55 .500 6
ol GV % 55 500 | 6
55 .100 68% | H:16.700
55 .300 52% | H:20.200
1RRE=i0 48 (RE) EEEES 55 .300 60%
55 .300 60%
55 .300 63%
55 .300 63%
55 .300 63%
55 .300 63%
ol GV % 55 300 | 634
55 .300 63%
55 .300 63%
55 .300 60%
55 .300 60%
55 .300
RR(PE)=R1E HRCHA)H 55 26.000 % +:27.600. H:25.000
U 55 26.000 £ +:27.600. H:25.000
RiE%R U 55 23,900
U 55 29.000 56% | H:29.700
RRECAB)=E# S5 CRIE) % U021 | 55 24,700 60%
= U022 55 26.000 58% | H:26.700
KBz (BS#E) =R 1E KBy (BR7E) ¢ U083 55 7.900 67 £ 1:19.300
Hiag U086 55 .900 71 9.300
INA=REE (BRER) IINB B uo37 55 .600 57 + H:23.800
PR (FRER) U 55 .600 57 + H:23.800
BEE (PED) =94 ()| & 2 (PER) [ NU 55 000 | 624
U 55 .000 52%
U 55 .000 68% |1:14.800
U 55 .000 68% [#£:17.400, £:14.800
(I8 U 55 .000 68% | H:14.800
U 55 .000 52%
U 55 .000 52%
U 55 .000 52%
R =38 B ) EIES U 55 300 |_42%
U 55 .300 42% 6.000
U 55 .300 52% H:22.000, 5/10-13.3&fifi
(I8 U 55 .300 52% 1 H:22.000
U 55 .300 42% | H:26.000, 5/10-13&fjiL
55 .300 42% | H:26.000
GV =R 18 GV % 55 400 | 75% H:6.700
55 700 70% | :K7K:7.400
55 7.700 70% | kIK:7.400
55 7.700 70% 7.400
55 .400 75% .700
55 .400 75% 700
55 .400 75% 700
RiER 55 400 75% 700
55 .400 75% 700
55 .400 75% 700
55 .400 75% 700
55 400 T1% 700
55 7.400 T1% 7.700
55 .400 75% 6.700
G =B & G % 55 600 | 66% 6.900
55 .600 66% 6.900
55 .900 65% | X .600
55 .900 65% 9 .600
55 .900 70% 6.200
55 .900 70% 6.200
55 .900 70% 6.200
55 .200 68% 900
EER 55 600 66% 900
55 .600 66% .900
55 .900 70% .200
55 .900 70% .200
55 .600 66% .900
55 .600 66% .900
55 .600 66% .900
55 .600 66% .900
R BB =AXS ShiE (FRER) 55 .300 48% = .600
AKESH 55 ,800 60% u sl ,100

JTA



TR—N—%FGIHEER(GA14~208EFED)

WEEAA . 2018/01/23 ~
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F# A—N—%1§
o B2 | ABR [ [EER prom
S| mEIE u
KR (BI78) =4 (V%) | KBk (B%) % | NUOOT | 65 18000 | 53% [&+:19.800
55 900 7
55 .500 6
ol GV % 55 500 | 6
55 .100 68% | H:16.700
55 .300 52% | H:20.200
1RRE=i0 48 (RE) EEEES 55 .300 60%
55 .300 60%
55 .300 63%
55 .300 63%
55 .300 63%
55 .300 63%
ol GV % 55 300 | 634
55 .300 63%
55 .300 63%
55 .300 60%
55 .300 60%
55 .300
RR(PE)=R1E HRCHA)H 55 26.000 % +:27.600. H:25.000
U 55 26.000 £ +:27.600. H:25.000
RiE%R U 55 23,900
U 55 29.000 56% | H:29.700
RRECAB)=E# S5 CRIE) % U021 | 55 24,700 60%
= U022 55 26.000 58% | H:26.700
KBz (BS#E) =R 1E PN U083 55 7.900 67 £:19.300
Hiag U086 55 .900 71 9.300
INA=REE (BRER) IINB B uo37 55 .600 57 + H:23.800
PR (FRER) U 55 .600 57 + H:23.800
BEE (PED) =94 ()| & 2 (PER) [ NU 55 000 | 52%
U 55 .000 52%
U 55 .000 68% |1:14.800
U 55 .000 68% [#£:17.400, £:14.800
(I8 U 55 .000 68% | H:14.800
U 55 .000 52%
U 55 .000 52%
U 55 .000 52%
R =38 B ) G U 55 300 | _42% | & +:26.000
U 55 .300 42% /14-17 38
U 55 .300 52% |#+:22.000. 5/14-19.38fi
(I8 U 55 .300 52% /14-17 38
U 55 .300 42% /14-19.38 i
55 .300 42% | H:26.000
GV =R 18 GV % 55 700 | 74% [ JKA:6.400
55 700 70% A XK:7.400
55 7.700 70% K 7K:7.400
55 7.700 70% X 7K:7.400
55 .700 74% K:6.400
55 .400 75% 700
55 .400 75% 700
RiEH 55 .700 74% K:6.400
55 .700 74% K:6.400
55 .700 74% K:6.400
55 .400 75% 700
55 700 70% K:7.400
55 7.700 70% K:7.400
55 .700 74% K:6.400
G =B & G % 55 900 | 65% 6,600
55 .900 65% K:6.600
55 .900 65% 7K:6.600
55 .900 65% 7K:6.600
55 .200 68% K:5.900
55 .900 70% .200
55 .900 70% .200
55 .200 68% 7K:5.900
S 55 .900 65% K:6.600
55 .900 65% K:6.600
55 .200 68% A:5.900
55 .200 68% A:5.900
55 .900 65% K:6.600
55 .900 65% K:6.600
55 .900 65% K:6.600
55 .600 66% = .900
R BB =AXS ShiE (FRER) 55 .300 48% = .600
AKESH 55 ,800 60% u sl ,100
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P A=~
=40} B2 AR an FER o
il TS u
KR (BSE) =i#E (FRE) | KB (BSFE)F | _NU0OT | 55 18.000 5. #1:19.800
55 900 7
55 500 | 6
RE) % 55 500 6
55 100 | 68% | H:16.700
55 300 | 52% | H:20.200
1BRE=h 4% (IBE) EEEES 55 .300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300
R CHE)=R1E R CHE) % 55 26,000 % £:27.600. H:25.000
U 55 26,000 % £:27.600. H:25.000
RiER U 55 23.900
U 55 29.000 | _56% | H:29.700
RRCHE)=E& Wa CHE) % | NU021 | 65 24.700 | 60%
BT U022 | 55 26,000 | _58% | H:26.700
KiE (@) =R1E il (F75) % | NU0B3 | 65 7900 | 67 £:19.300
Al U086 | 55 900 |71 9.300
M= GRE) N EE U037 | 55 600 |57 £ H:23.800
g B % | NU 55 600 |57 £ H:23.800
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68% | £:14.800
U 55 000 | 68% |%:17.400. T:14.800
ARG % [_NU 55 000 | 68% | H:14.800
U 55 000 | 52%
U 55 000 | 52%
U 55 000 | 52%
=304 (B E) FL5E 55 300 | _42% |&£:26.000
S0 R % 55 300 | _42%
W RH) =H1E RE) £ 55 .700 74%
55 700 70%
55 7.700 70%
55 7.700 70%
55 700 4%
55 400 75%
55 400 75%
AlEs 55 700 74%
55 700 4%
55 700 4%
55 400 75%
55 700 70%
55 7.700 70%
55 700 4%
SEE(BRE) =TS G IE IS 55 .900 65%
55 900 65%
55 900 65%
55 900 65%
55 200 68%
55 900 70%
55 900 70%
55 200 68%
HE 5 55 900 65%
55 900 65%
55 200 68%
55 200 68%
55 900 65%
55 900 65%
55 900 65% X
55 600 66% |-t H:6.900
SRR -AKE | i (w5 55 300 48% | % T H:6.600
AKBF 55 800 60% |t H:5.100
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55 100 | 68%
55 300 | 52%
1BRE=h 4% (IBE) EEEES 55 .300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300
R CHE)=R1E R CHE) & 55 26,000
U 55 26,000
RiER U 55 23.900
U 55 29.000 | 56%
RRCHE)=E& Wa CHE) % | NU021 | 65 24.700 | 60%
BT U022 | 55 26.000 | 58%
KiE (@) =R1E il (F75) % | NU0B3 | 65 7900 | 67
Al U086 | 55 900 |71
M= EE () N7 U037 | 55 .600 57
g B % | NU 55 600 |57
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68%
U 55 000 | 68%
RE) £ U 55 .000 68%
U 55 000 | 52%
U 55 000 | 52%
U 55 000 | 52%
FEIL=h48 () Bl LU 5 55 .300 42%
S0 R % 55 300 | _42%
W RH) =H1E RE) £ 55 .400 75% | H:6.700
55 400 71% _|A:7.700
55 7.400 1% _|A:7.700
55 7.400 1% _|A:7.700
55 400 75% 6.700
55 400 75%
55 400 75%
RiER 55 400 75% | H:6.700
55 400 75% | B:6.700
55 400 75% | B:6.700
55 400 75%
55 400 7% 7.700
55 7.400 71% | B:7.700
55 400 75% 700
SEE(BRE) =TS G IE IS 55 .600 66% 1:6.900
55 600 66% | :6.900
55 600 66% | A:6.900
55 600 66% | A:6.900
55 900 70% | F:6.200
55 900 70%
55 900 70%
55 900 70% | A:6.200
HE 5 55 600 66% 900
55 600 66% | H:6.900
55 900 70% | F:6.200
55 900 70% 200
55 600 66% | H:6.900
55 600 66% | 5:6.900
55 600 66% 900
55 600 66%
SRR -AKE | i (w5 55 300 48%
AKBF 55 800 60%
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= % | pawm o — — — — — ——

&R | EAE | W@ | ERE | @AW | EA@ | ER
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55 .600
55 .200
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55 23.900
55 26.200
R e 55 000
55 .000
55 .000
55 .000
55 .000
55 .000
ETIEEE> 55 000
55 .000
55 .000
55 .000
55 .000
55 .000
TRPEEE | RAGEE 55 76,600
U 55 26.600
RIEHR U 55 24,700
U 55 33.400
RRCPE)-Ba HE CPE) % | NU021 |65 25.400
= U022 55 30.400
KR (B8#8)=H1E KBy (BR7E) ¢ U083 55 20.000
Hia U086 55 28.400
MR L Uos7 |55 25100
ShiE (FRER) U 55 25,700
ZEE (FE)-HAGIE)| & BIE (PH) 55| NU 55 700
U 55 .700
U 55 .800
U 55 .800
FRADIE | N 55 500
U 55 .700
U 55 .700
U 55 .700
e TS 55 100
ShiB (FRER) 55 28.100
ATHEE | ARENE 55 7600
55 .200
55 .200
55 .200
55 600
55 7.600
55 17.600
RiEH 55 7.600
55 7.600
55 7.600
55 7.600
55 8.200
55 8.200
55 7.600
FROE-EE | FRTE 55 7700
55 .900
55 .900
55 .900
55 .300
55 .300
55 .300
55 .300
EHHE 55 700
55 7.700
55 .300
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55 .900
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AT =AXKE ShE (ARER) ¢ 55 .600
AKES 55 .000
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5/1
FH A5
= B2 | mame o
%
KR () - g | KR (B&) % | NUoot | 55 00
55 .500
55 .600
ARAT R 55 900
55 .100
55 28.300
TR D) FE 55 400
55 .400
55 700
55 .800
55 .600
55 .100
ARAT R 55 100
55 .300
55 25,100
55 25,100
55 26.000
55 26.000
RROIEFE | AR E 55 31.400
U 55 30.200
RAiEH U 55 43.700
U 55 55.300
RRCPE)-Ba HE CPE) % | NU021 |65 29,600
= U022 55 51.800
KR (B8#8)=H1E KBy (BR7E) ¢ U083 55 26.100
Hia U086 55 .200
N R N U037 |55 500
ShiE (FRER) U 55 .300
BEE (D E) R RE)| £ &% (PH) 3| _NU 55 900
U 55 .900
U 55 700
U 55 7.500
AR R [N 55 400
U 55 100
U 55 100
U 55 36.100
EIT==Ae ) T 55 25000
ShiB (FRER) 55 33.400
FIEEAE - e F 55 6.400
55 7.400
55 7.400
55 7.400
55 .400
55 .400
55 .400
RiEH 55 .400
55 .400
55 .400
55 .400
55 400
55 7.400
55 .400
FROE-EE | FRTE 5 500
55 .600
55 .600
55 .600
55 .900
55 .900
55 .900
55 .900
EHHE 55 .600
55 .600
55 .900
55 .900
55 .600
55 .600
55 .600
55 .600
AT =AXKE ShE (ARER) ¢ 55 .300
AKES 55 .800
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WEEAA . 2018/01/23 ~
4/10-15
4 TSR
B B | im wng [HET =
il VL "
KRR (BE7E) =348 (ARER) | KPx(BIF)F |[_NU0OT 7! 17.200 55% |#+:18.800
7! 8.300 78%
7! .100 68%
G % | 7 100 | 68%
7! .000 69% | H:15.900
7! 400 55% | H:19.200
TR =4 () wERE 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
G % | ! 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
R CAE)-R1E R (CAE) % 7 300 | 65%
U 7! .300 65%
RIEFR U 7! 23.300 65%
U 7! 25.300 62%
R (HE) =2 HECHE) uo2 7! .000 61%
= U022 7! .000 61%
KBz (BS#E) =R 1E PN U083 7! .900 69% +:18.700
Hiag U086 7! .900 73% 8.700
INA=REE (BRER) IINB B uo37 7! .500 60% £ H:23.200
PR (FRER) U 7! .500 60% £ H:23.200
BEE (PED) =94 ()| & 2 (PER) [ NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.000 72% | 1:13.800
U 7! 12.000 72% [#£:16.600, £:13.800
(I8 U 7! 12.000 72% [#£:12.500, H:13.800
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [ElTE: S uot 7! 21.100 45%
PR (FRER) uot 7! 21.100 45%
EXEE St I E 7 5900 | 77%
7! 7.200 2%
7! 7.200 2%
7! 7.200 2%
7! .900 77
7! .900 77
7! .900 77
RIEFR 7 .900 77
7! .900 77
7! .900 77
7! .900 77
7! .900 73
7! .900 73%
7! .900 7%
G =B & G % | ! 7 900 | 70%
7! .900 70%
7! .200 68% | X
7! .200 68%
7! .900 75%
7! .900 75%
7! .900 75%
7! .200 73%
S 7 .900 70%
7! .900 70%
7! .900 75%
7! .900 75%
7! .900 70%
7! .900 70%
7! .900 70%
7 .900 70% ..
R BB =AXS ShiE (FRER) 7 .300 56% = .600
AKEF 7 .900 68% = 200
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=] ga |, 70 SIS
BANR g | BEW wE
il VL "
KRR (BE7E) =348 (ARER) | KPx(BIF)F |[_NU0OT 7! 17.200 55% |#+:18.800
7! 8.300 78%
7! .100 68%
EIC e 7 100 | 68%
7! .000 69% | H:15.900
7! 400 55% | H:19.200
TER=5 8 5 % 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
EICEE RN 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
R (HE)-RE RRCHE) % 7 300 | 65%
U 7! .300 65%
RIEFR U 7! 23.300 65%
U 7! 25.300 62%
R (HE) =2 HECHE) uo2 7! .000 61%
= U022 7! .000 61%
KBz (BS#E) =R 1E PN U083 7! .900 69% 1:18.700
Hiag U086 7! .900 73% 8.700
INA=REE (BRER) NI uo37 7! .500 60% £ H:23.200
PR (FRER) U 7! .500 60% £ H:23.200
BEE (PE) =8 (5)| & =2 (P H) 5| _NU 7 20600 | _52%
U 7! 20.600 52%
U 7! 12.000 72% | 1:13.800
U 7! 12.000 72% [#£:16.600, £:13.800
(I8 U 7! 12.000 72% [HB#:12.500, H:13.800
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [FATE uot 7! 21.100 45% | +:24.800
PR (FRER) uot 7! 21.100 45% | H:24.800
e HRRE % | | 7 6,200 | 76% | XIKA:5900
7! 7.200 2% A XK:6.900
7! 7.200 2% A XK:6.900
7! 7.200 2% A XK:6.900
7 .200 76% | KIKAK:5.900
7! .900 77%  [#4 .200
7! .900 7% (2 .200
RiER 7 ,200 76% | XIKA:5.900
7 .200 76% | KIKAK:5.900
7 .200 76% | KIKAK:5.900
7 .900 ESE .200
7 200 72% | :KIKAK:6.900
7 7.200 72% | KIKAK:6.900
7 .200 76% | :KIKAK:5.900
EIe I ERE) % | | 7 200 | 68% [JKA:5900
7 .200 68% | K7KAK:5.900
7 .200 68% | A 47K:5.900
7 .200 68% | A 47K:5.900
7 .200 73% | KIKAK:4.900
7 .900 75% |24 .200
7 .900 75% [& .200
7 .200 73% | A AK:4.900
S 7 .200 68% | KIKA:5.900
7 .200 68% | KIKAK:5.900
7 .200 73% | :KIKK:4.900
7 .200 73% | :KIKK:4.900
7 .200 68% | KIKAK:5.900
7 .200 68% | KIKA:5.900
7 .200 68% JKK:5.900
7! .900 70% = .200
R BB =AXS ShiE (FRER) 7 .300 56% = .600
AKEF 7 .900 68% = .200
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WEEAA . 2018/01/23 ~
4/23-26
I ILNSRF
B B | im wng [HET =
il VL m
KR (BT =5+ (FH) | AR (BIg) % | NUOOT | 7 17.000 | 55%
7! 8.300 78%
7! 100 68%
G % | 7 100 |_68%
7! 000 69%
7! 400 55%
TR =4 () wERE 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
G % | ! 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
R CAE)-R1E R (CAE) % 7 300 | 65%
U 7! 300 65%
RIEFR U 7! 23.300 65%
U 7! 25.300 62%
R (HE) =2 HECHE) uo2 7! 000 61%
= U022 7! 000 61%
KBz (BS#E) =R 1E PN U083 7! 900 69%
Hiag U086 7! 900 73%
N GV ER) AR U037 | 7 500 | 60%
PR (FRER) U 7! .500 60%
BEE (PED) =94 ()| & 2 (PER) [ NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.000 2%
U 7! 12.000 2%
(I8 U 7! 12.000 72% | A:12.500
U 7! 20.600 52%
U 7! 20.600 52%
7! 20.600 52%
=4k (3ER) [ElTE: S uot 7! 21.100 45%
PR (FRER) uot 7! 21.100 45%
EXEE St HRRE % | | 7 900 | 77% | 7:6.200
7! 900 73% | A:7.200
7! 900 73% | A:7.200
7! .900 73 K:7.200
7! .900 77 6.200
7! 900 77
7! 900 77
RIEFR 7 900 77 H:6.200
7! 900 77 H:6.200
7! 900 77 H:6.200
7! 900 77
7! 900 73 | B:7.200
7! 900 73% 7.200
7! 900 7% 1:6.200
G =B & G % | ! 7 900 | 70% [H:6.200
7! 900 70% 6.200
7! 900 70% | 4:6.200
7! 900 70% | A:6.200
7! 900 75% | H:5.200
7! 900 75%
7! 900 75%
7! 900 75%
S 7 900 70%
7! 900 70%
7! 900 75%
7! 900 75%
7! 900 70%
7! 900 70%
7! 900 70%
7! 900 70%
R BB =AXS ShiE (FRER) 7 300 56%
AKEF 7 900 68%
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WEEAA . 2018/01/23 ~
5/8-13
=] ga |, 70 TSR
o1 p— 15 oy
il VL "
KRR (BE7E) =348 (ARER) | KPx(BIF)F |[_NU0OT 7! 17.200 55% |#+:18.800
7! 7.900 79% |#+ H:8.300
7! 12.100 68%
B R | 7! 7.900 79% [#+H:12.100
7! 7.900 79% [#£+:12.000, H:15.900
7! 400 55% | H:14.500
1RRE=i0 48 (RE) EEEES 7 ,000 61%
7! .000 61%
7! .000 64%
7! .900 78% 4 .000
7! .900 78% .000
7! .900 78% .000
G % | ! 7 900 | _78% 000
7! 900 78% o .000
7! .000
7! .000
7! .000
7! .000
R CAE)-R1E R (CAE) % 7 000 | 80% [& H:23.300
U 7! .000 82% 23.300
RiE%R U 7 000 82% 23,300
U 7! .000 79% 25.300
R (HE) =2 HECHE) uo2 7! .500 78% 24,000
= U022 7! .500 78% 24,000
KBz (BS#E) =R 1E PN U083 7! .700 66% 2.000, H:16.900
Hiag U086 7! .000 78% 4.900, H:18.700
INA=REE (BRER) IINB B uo37 7! 9.900 78% 1 H:18.500
PR (FRER) U 7! 9.900 78% 1 H:18.500
BEE (PED) =94 ()| & 2 (PER) [ NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.000 72% | 1:13.800
U 7! 8.900 79% [#:16.600, £:13.800. H:12.000
(I8 U 7! 12.000 72% [#£:12.500, H:13.800
U 7! 20.600 52%
U 7! 20.600 52%
U 7! .900 79%
R =38 B ) EIES U 7 22100 | 424
U 7! 22.100 42% 5.800
U 7! .900 74% H:10.900, 5/10-13.3&fifi
AR (IRER) U 7! .900 74% |FF 0.900
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55 600 66% | :6.900
55 600 66% | A:6.900
55 600 66% | A:6.900
55 900 70% | F:6.200
55 900 70%
55 900 70%
55 900 70% | A:6.200
HE 5 55 600 66% 900
55 600 66% | H:6.900
55 900 70% | F:6.200
55 900 70% 200
55 600 66% | H:6.900
55 600 66% | 5:6.900
55 600 66% 900
55 600 66%
PHE (BB =AKE | b CRE) % 55 300 48%
AKBF 55 800 60%




TR—N\—%FGIHEER(6A29~308EFEN)

EEEAA . 2018/01/23 ~
6/29-30
FH A—— 5
=40} B2 AR an FET o
il TS i
KR (BSE) =i#E (FRE) | KB (BSFE)F | _NU0OT | 55 23.500 39%
55 900 74% | £:19.100
55 12500 | 67%
RE) % 55 12.500 67%
55 12100 | 68% [£:17.100
55 20.300 | _47%
1BRE=h 4% (IBE) EEEES 55 .300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300
R CHE)=R1E R CHE) & 55 800
U 55 800
AER U 55 .900
U 55 100 | 56% |2:32.100
RRCHE)=E& Wa CHE) % | NU021 | 65 800 | 56%
T U022 | 55 7100 | 56% |%:20.100
KiE (@) =R1E il (F75) % | NU0B3 | 65 600 | 60% |£:21.900
Al U086 | 55 300 | 64%
M= EE () N7 U037 | 55 .800 48%
g B % | NU 55 800_|_48%
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68% | £:14.800
U 55 800 | 66% |2:19.900
ARG % [_NU 55 200 | 67% |%:15.300
U 55 000 | 52%
U 55 000 | 52%
U 55 000 | 52%
FEIL=h48 () Bl LU 5 55 100 29%
S0 R % 55 3500 | 39%
W RH) =H1E RE) £ 55 6.700 74%
55 7.700 70%
55 7.700 70%
55 7.700 70%
55 700 7
55 700 7
55 .700 7
AlEs 55 700 7
55 .700 7
55 .700 7
55 .700 7
55 700 70%
55 7.700 70%
55 700 4%
SEE(BRE) =TS G IE IS 55 .900 65%
55 900 65%
55 900 65%
55 900 65%
55 200 68%
55 200 68%
55 200 68%
55 200 68%
HE 5 55 900 65%
55 900 65%
55 200 68%
55 200 68%
55 900 65%
55 900 65%
55 900 65%
55 900 65%
SRR -AKE | i (w5 55 600 45%
AKBF 55 100 58%

JTA



TS EFIERR(6A1~3BERED)

EE®AL . 2018/01/23 ~
6/1-3
I ILNSRF
= B2 | ABR [ [EER e
S mIEIE m
KI (BEE) =+ #8 (h8) | ABR (%)% | _NUoOT | 7 18800 | 51% [H:17.200
7! 8.300 78%
7! .100 68%
EIC e 7 100 | 68%
7! .000 69% | H:15.900
7! 400 55% | H:19.200
TER=5 8 5 % 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
EICEE RN 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
R (HE)-RE RRCHE) % 7 300 |_65%
U 7! .300 65%
RIEFR U 7! 23.300 65%
U 7! 25.300 62%
R (HE) =2 HECHE) uo2 7! .000 61%
= U022 7! .000 61%
KBz (BS#E) =R 1E PN U083 7! .700 66%
Hiag U086 7! .900 69% |H:18.700
INE= R (I ER) AR w037 | 7 200 |_49%
PR (FRER) U 7! .200 49%
BEE (PE) =8 (5)| & =2 (P H) 5| _NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.000 72% | 1:13.800
U 7! 12.000 72% [#£:18.100, £:13.800
(I8 U 7! 12.000 72% [#£:12.500, H:13.800
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [FATE uot 7! 26.900 30% | H:23.300
PR (FRER) uot 7! 23.300 39% | H:26.900
e HRRE % | | 7 6,200 | 76%
7! 7.200 2%
7! 7.200 2%
7! 7.200 2%
7! .200 76%
7! .200 76%
7! .200 76%
RIEFR 7 .200 76%
7! .200 76%
7! .200 76%
7! .200 76%
7! 200 2%
7! 7.200 2%
7! .200 76%
G =B & ERE) % | | 7 200 | 68%
7! .200 68%
7! .200 68%
7! .200 68%
7! .200 73%
7! .200 73%
7! .200 73%
7! .200 73%
S 7 .200 68%
7! .200 68%
7! .200 73%
7! .200 73%
7! .200 68%
7! .200 68%
7! .200 68%
7! .200 68%
R BB =AXS ShiE (FRER) 7 .600 54%
AKEF 7 .400 64%

JTA



TMIILNSRFIEER(6A4~10BEESD) JTA

EEEMAR ;- 2018/01/23 ~

6/4-10
F NS ER
=40 [ g wng [HET -
il VL "
KRR (BE7E) =348 (ARER) | KPx(BIF)F |[_NU0OT 7! 17.200 55% |#+:22.200, H:19.300
7! 8.300 78%
7! 100 68%
EIC e 7 100 | 68%
7! .000 69% | H:17.800
7! 400 55% |#+:19.300, H:21.700
TER=5 8 5 % 7 000 |
7! .000
7! .000
7! .000
7! .000
7! .000
EICEE RN 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
RR(PE)=R1E R CHE) 7! .300 65% |#+:29.700, H:27.100
U 7! .300 65% |#+:29.700, H:27.100
RiEH U 7! 23.300 65%
U 7! 25.300 62% [#£:31.000, £:29.000. H:31.800
R (HE) =2 HECHE) uo2 7! .000 61% [#+:26.700, H:24.100
= U022 7! .000 61% [#£:28.000, £:26.000. H:28.800
KBz (BS#E) =R 1E PN U083 7! .700 66%
Hiag U086 7! .900 69% |H:18.700
INA=REE (BRER) IINB B uo37 7! .500 60% [#+ H:23.200
PR (FRER) U 7! .500 60% [#+ H:23.200
BEE (PE) =8 (5)| & =2 (P H) 5| _NU 7 20600 | _52%
U 7! 20.600 52%
U 7! 12.000 72% | 1:13.800
U 7! 12.000 72% [#£:19.000, £:13.800
(I8 U 7! 12.000 72% [HB#:12.500, H:13.800
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [FATE uot 7! 23.300 39% | +:26.900
PR (FRER) uot 7! 23.300 39% | H:26.900
e HRRE % | | 7 6.200 | 76% | XsKA5.900
7! 7.200 2% .900
7! 7.200 2% .900
7! 7.200 2% .900
7! 200 76% .900
7! 900 7% .200
7! 900 7% .200
RiER 7 200 76% .900
7! 200 76% .900
7! 200 76% .900
7! 900 7% .200
7! 200 2% .900
7! 7.200 2% .900
7! 200 76% .900
G =B & ERE) % | | 7 200 | 68% 900
7! 200 68% .900
7! 200 68% 7K:5.900
7! 200 68% 7K:5.900
7 200 73% K:4.900
7! 900 75% .200
7! 900 75% .200
7! 200 73% 7K:4.900
S 7 200 68% :5.900
7 200 68% A:5.900
7 200 73% K:4.900
7 200 73% K:4.900
7 200 68% A:5.900
7 200 68% A:5.900
7 200 68% K:5.900
7! 900 70% = .200
R BB =AXS ShiE (FRER) 7 500 55% = .800
AKEF 7 100 66% = 400




TSR IEER(GAII~14BEES)

WEEAA . 2018/01/23 ~
6/11-14
I ILNSRF
= B2 | ABR [ [EER e
il VLI i
KR (BT =5+ (FH) | AR (BIg) % | NUOOT | 7 19300 | 50%
7! 8.300 78%
7! .100 68%
G % | 7 100 | _68%
7! .000 69%
7! .300 50%
TR =4 () wERE 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
G % | ! 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
R CAE)-R1E R (CAE) % 7 28100 | 58%
U 7! 28.100 58%
RIEFR U 7! 23.300 65%
U 7! 31.100 53%
R (HE) =2 HECHE) uo2 7! 25.100 60%
= U022 7! 28.100 55%
KBz (BS#E) =R 1E PN U083 7! .700 66%
Hiag U086 7! .900 69%
N GV ER) AR w037 | 7 500 | 60%
PR (FRER) U 7! .500 60%
BEE (PED) =94 ()| & 2 (PER) [ NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.000 2%
U 7! 12.000 2%
(I8 U 7! 12.000 72% | A:12.500
U 7! 20.600 52%
U 7! 20.600 52%
7! 20.600 52%
=4k (3ER) [ElTE: S uot 7! 23.300 39%
PR (FRER) uot 7! 23.300 39%
EXEE St I E 7 900 | 77% | 73:6.200
7! .900 73% | A:7.200
7! .900 73% | A:7.200
7! .900 73 K:7.200
7! .900 77 6.200
7! .900 77
7! .900 77
RIEHR 7 .900 77 H:6.200
7! .900 77 H:6.200
7! .900 77 H:6.200
7! .900 77
7! .900 73 | B:7.200
7! .900 73% 7.200
7! .900 7% 1:6.200
G =B & ERE) % | | 7 900 | 70% | 55:6.200
7! .900 70% 1:6.200
7! .900 70% | 4:6.200
7! .900 70% | A:6.200
7! .900 75% | H:5.200
7! .900 75%
7! .900 75%
7! .900 75%
S 7 .900 70%
7! .900 70%
7! .900 75%
7! .900 75%
7! .900 70%
7! .900 70%
7! .900 70%
7! .900 70%
R BB =AXS shid (AF) 7 .500 55%
AKEF 7 .100 66%

JTA



TS5 RBIEER(6AIS~1TAEES)

WEEAA . 2018/01/23 ~
6/15-17
I ILNSRF
B B | im 2ng W o
VL i
KR (BT =5+ (FH) | AR (BIg) % | NUOOT | 7 22200 | 42% |H:19.300
7! 8.300 78%
7! .100 68%
G % | 7 100 | 684
7! .000 69% | H:17.800
7! .300 50% | H:21.700
TR =4 () wERE 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
G % | ! 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
RR(PE)=R1E R CHE) 7! 29.700 55% | H:27.100
U 7! 29.700 55% | H:27.100
RIEFR U 7! 23.300 65%
U 7! 29.000 56% :31.000, H:31.800
R (HE) =2 HECHE) uo2 7! 26.700 57% 24,100
= U022 7! 26.000 58% | %:28.000, H:28.800
KBz (BS#E) =R 1E PN U083 7! .000 61% 19.200
Hiag U086 7! .700 66% 19.200
N GV ER) AR U037 | 7 200 | _49%
PR (FRER) U 7! .200 49%
BEE (PED) =94 ()| & 2 (PER) [ NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 13.800 68% |#£:12.500
U 7! 13.800 68% [#:19.000
(I8 U 7! 13.600 69% [#£:14.300, H:13.800
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [FATE uot 7! 26.900 30% | H:23.300
PR (FRER) uot 7! 23.300 39% | H:26.900
EXEE St I E 7 6.200 | 764 |
7! 7.200 2%
7! 7.200 2%
7! 7.200 2%
7! .200 76%
7! .200 76%
7! .200 76%
RIEHR 7 .200 76%
7! .200 76%
7! .200 76%
7! .200 76%
7! 200 2%
7! 7.200 2%
7! .200 76%
G =B & G % | ! 7 200 | 68%
7! .200 68%
7! .200 68%
7! .200 68%
7! .200 73%
7! .200 73%
7! .200 73%
7! .200 73%
S 7 .200 68%
7! .200 68%
7! .200 73%
7! .200 73%
7! .200 68%
7! .200 68%
7! .200 68%
7! .200 68%
R BB =AXS ShiE (FRER) 7 .800 52%
AKEF 7 .400 64%

JTA



TS5 BIEER(6A18~21BEES)

WEEAA . 2018/01/23 ~
6/18-21
I ILNSRF
= B2 | ABR [ [EER e
il VLI i
KR (BT =5+ (FH) | AR (BIg) % | NUOOT | 7 19300 | 50%
7! 8.300 78%
7! .100 68%
G % | 7 100 | _68%
7! .000 69%
7! .300 50%
TR =4 () wERE 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
G % | ! 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
R CAE)-R1E R (CAE) % 7 28100 | 58%
U 7! 28.100 58%
RIEFR U 7! 23.300 65%
U 7! 31.100 53%
R (HE) =2 HECHE) uo2 7! 25.100 60%
= U022 7! 28.100 55%
KBz (BS#E) =R 1E PN U083 7! .200 65%
Hiag U086 7! .700 66%
N GV ER) AR w037 | 7 500 | 60%
PR (FRER) U 7! .500 60%
BEE (PED) =94 ()| & 2 (PER) [ NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.000 72% | H:12.600
U 7! 12.000 72% | A:12.600
(I8 U 7! 12.500 1% [ A:13.200
U 7! 20.600 52%
U 7! 20.600 52%
7! 20.600 52%
=4k (3ER) [ElTE: S uot 7! 23.300 39%
PR (FRER) uot 7! 23.300 39%
EXEE St I E 7 900 | 77% | 73:6.200
7! .900 73% | A:7.200
7! .900 73% | A:7.200
7! .900 73 K:7.200
7! .900 77 6.200
7! .900 77
7! .900 77
RIEHR 7 .900 77 H:6.200
7! .900 77 H:6.200
7! .900 77 H:6.200
7! .900 77
7! .900 73 | B:7.200
7! .900 73% 7.200
7! .900 7% 1:6.200
G =B & ERE) % | | 7 900 | 70% | 55:6.200
7! .900 70% 1:6.200
7! .900 70% | 4:6.200
7! .900 70% | A:6.200
7! .900 75% | H:5.200
7! .900 75%
7! .900 75%
7! .900 75%
S 7 .900 70%
7! .900 70%
7! .900 75%
7! .900 75%
7! .900 70%
7! .900 70%
7! .900 70%
7! .900 70%
R BB =AXS shid (AF) 7 .500 55%
AKEF 7 .100 66%

JTA



TS RB I EER(6H22~24BBES)

WEEAA . 2018/01/23 ~
6/22-24
I ILNSRF
B B | im 2ng W o
VL i
KR (BT =5+ (FH) | AR (BIg) % | NUOOT | 7 22200 | 42% |H:19.300
7! 8.300 78%
7! .100 68%
G % | 7 100 | 684
7! .000 69% | 1:16.200. H:17.800
7! .300 50% | H:21.700
TR =4 () wERE 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
G % | ! 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
RR(PE)=R1E R CHE) 7! 29.700 55% | H:27.100
U 7! 29.700 55% | H:27.100
RIEFR U 7! 23.300 65%
U 7! 29.000 56% :31.000, H:31.800
R (HE) =2 HECHE) uo2 7! 26.700 57% 24,100
= U022 7! 26.000 58% | %:28.000, H:28.800
KBz (BS#E) =R 1E PN U083 7! .000 61% 19.200
Hiag U086 7! .700 66% 19.200
N GV ER) AR U037 | 7 200 | _49%
PR (FRER) U 7! .200 49%
BEE (PED) =94 ()| & 2 (PER) [ NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 13.800 68% |#£:12.500
U 7! 13.800 68% [#:19.000
(I8 U 7! 13.600 69% [#£:14.300, H:13.800
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [FATE uot 7! 26.900 30% | H:23.300
PR (FRER) uot 7! 23.300 39% | H:26.900
EXEE St I E 7 6200 | 76%
7! 7.200 2%
7! 7.200 2%
7! 7.200 2%
7! .200 76%
7! .200 76%
7! .200 76%
RIEHR 7 .200 76%
7! .200 76%
7! .200 76%
7! .200 76%
7! 200 2%
7! 7.200 2%
7! .200 76%
G =B & G % | ! 7 200 | 68%
7! .200 68%
7! .200 68%
7! .200 68%
7! .200 73%
7! .200 73%
7! .200 73%
7! .200 73%
S 7 .200 68%
7! .200 68%
7! .200 73%
7! .200 73%
7! .200 68%
7! .200 68%
7! .200 68%
7! .200 68%
R BB =AXS ShiE (FRER) 7 .800 52%
AKEF 7 .400 64%

JTA



TS5 RBEER(6H25~28ABES)

WEEAA . 2018/01/23 ~
6/25-28
I ILNSRF
= B2 | ABR [ [EER e
il VLI i
KR (BT =5+ (FH) | AR (BIg) % | NUOOT | 7 19300 | 50%
7! 8.300 78%
7! .100 68%
G % | 7 100 | _68%
7! .000 69%
7! .300 50%
TR =4 () wERE 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
G % | ! 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
R CAE)-R1E R (CAE) % 7 28100 | 58%
U 7! 28.100 58%
RIEFR U 7! 23.300 65%
U 7! 31.100 53%
R (HE) =2 HECHE) uo2 7! 25.100 60%
= U022 7! 28.100 55%
KBz (BS#E) =R 1E PN U083 7! .200 65%
Hiag U086 7! .700 66%
N GV ER) AR w037 | 7 500 | 60%
PR (FRER) U 7! .500 60%
BEE (PED) =94 ()| & 2 (PER) [ NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.000 72% | H:12.600
U 7! 12.000 72% | A:12.600
(I8 U 7! 12.500 1% [ A:13.200
U 7! 20.600 52%
U 7! 20.600 52%
7! 20.600 52%
=4k (3ER) [ElTE: S uot 7! 23.300 39%
PR (FRER) uot 7! 23.300 39%
EXEE St I E 7 900 | 77% | 73:6.200
7! .900 73% | A:7.200
7! .900 73% | A:7.200
7! .900 73 K:7.200
7! .900 77 6.200
7! .900 77
7! .900 77
RIEHR 7 .900 77 H:6.200
7! .900 77 H:6.200
7! .900 77 H:6.200
7! .900 77
7! .900 73 | B:7.200
7! .900 73% 7.200
7! .900 7% 1:6.200
G =B & ERE) % | | 7 900 | 70% | 55:6.200
7! .900 70% 1:6.200
7! .900 70% | 4:6.200
7! .900 70% | A:6.200
7! .900 75% | H:5.200
7! .900 75%
7! .900 75%
7! .900 75%
S 7 .900 70%
7! .900 70%
7! .900 75%
7! .900 75%
7! .900 70%
7! .900 70%
7! .900 70%
7! .900 70%
R BB =AXS shid (AF) 7 .500 55%
AKEF 7 .100 66%

JTA



TS5 RB I EER(6H29~30AEES)

EE®AL . 2018/01/23 ~
6/29-30
I ILNSRF
= B2 | ABR [ [EER e
VL m
KI (BEE) =+ #8 (h8) | ABR (%)% | _NUoOT | 7 22200 | 42%
7! 8.300 78%
7! .100 68%
EIC e 7 100 | 68%
7! .000 69% |1:16.200
7! .300 50%
TER=5 8 5 % 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
EICEE RN 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
R (HE)-RE RRCHE) % 7 20700 | _55%
U 7! 29.700 55%
RIEFR U 7! 23.300 65%
U 7! 29.000 56% |#£:31.000
R (HE) =2 HECHE) uo2 7! 26.700 57%
= U022 7! 26.000 58% |%£:28.000
KBz (BS#E) =R 1E PN U083 7! .000 61%
Hiag U086 7! .700 66%
INE= R (I ER) AR w037 | 7 200 |_49%
PR (FRER) U 7! .200 49%
BEE (PE) =8 (5)| & =2 (P H) 5| _NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.500 71% [ £:13.800
U 7! 13.800 68% [#:19.000
AR (GIRER) R U 7! 13.600 69% [#£:14.300
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [ElTE: S uot 7! 26.900 30%
PR (FRER) uot 7! 23.300 39%
e HRRE % | | 7 6,200 | 76%
7! 7.200 2%
7! 7.200 2%
7! 7.200 2%
7! .200 76%
7! .200 76%
7! .200 76%
RIEFR 7 .200 76%
7! .200 76%
7! .200 76%
7! .200 76%
7! 200 2%
7! 7.200 2%
7! .200 76%
G =B & ERE) % | | 7 200 | 68%
7! .200 68%
7! .200 68%
7! .200 68%
7! .200 73%
7! .200 73%
7! .200 73%
7! .200 73%
S 7 .200 68%
7! .200 68%
7! .200 73%
7! .200 73%
7! .200 68%
7! .200 68%
7! .200 68%
7! .200 68%
R BB =AXS ShiE (FRER) 7 .800 52%
AKEF 7 .400 64%

JTA



rse

BEISI EEXR(TA2~8BEZRD)

WEEAE 2018/01/23 ~
1/2-8
=) 23 FB/ITA F@B
BAR | oy ) s s
KIR (B7G) =94 (B8 | AR (BAF) % |_NUOOT [ 23600 42% | %:27.600. £:27.000 £::26.500. £:26.000
[__NU00S .500 57% |#+:21.200 % 1:20.100
U009 .500 62%
8 () 3 |_NU002 500 62%
[__NU004 .100 53% H:20.800 H:19.800
U008 600 | 42% £:24.000. H:27.000 %:22.900. H:26.000
BE=8 BB fBE% [ _NUOSI 300 4
[_NU053 .300
[__NU057 .300
[_NUO061 .300
[__NU063 .300
U065 .300
(BB R | _NUO50 300
[__NU052 .300
[_NU054 .300
[_NU058 .300
[NU060 300
U062 300 | 57
B CHE) =R & HR CHE) % | NUOT 200 9% | %:36.200. £:37.200 £:33.400_ T 34.300
UoT: 200 | 49% [ :36.000. :37.200 :33.400. F:34.300
BER Uo7 .900 | 51%
Uo7 .300 | 44% [ #:37,600. H:42.500 £:34.800. H:39.200
RGBS e GHE) % | NU0Z 200 | 50% [ #:33.000. :34.200 £:30.400. F:31.300
) U022 300 | 45% [ :34,600. H:39.500 £:31.800. H:36.200
NGB 0 (F7) % | NU083 900 | 51%
FiE g U086 900 | 51%
INA=TRHE BV ER) NS 0037 300 | 434 [ & T H31500 & T 528400
ShE (L) % | NU036 300 | 434 @ H:31.500 & T H:28.400
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100 400 100 400 100 400 600 .
HRAB)-AKE | FREH) % 600 600 600 300 600 600 400 300
— — 300 500 400 6.600 100 6.300
AKESE — — 600 7.600 8.600 7.600 8.600 8.300
7,400 6,600 400 6.600 7.400 6.600 8,300 7.500
— — 7.400 6,600 7.400 6,600 8.300 7.500

JTA



MEFJE5 EERTA1T~208EFES)

BERAB 2018/01/23 ~
P P /17 7/18 /19 7/20
- REION| ABITE | A | £EsTE | REITA] £RITE| REHIA] £RITE| REHTA| ERITE
KR (B#8) =048 (ARER) | KPR (BSFE)F [_NU0OT | .000 2.900 .000 2.900 .000 2.900 .600
.700 7.700 .700 1.700 .700 1.700 .200
.500 4,600 .500 4.600 .500 4.600 .500
R (AR F | _NU002 | .500 4,600 .500 4,600 .500 4.600 .500
.000 20.900 .000 20.900 .000 20.900 .000
.400 3,400 .400 3.400 400 3.400 .400
=48 GRE) EEEES .300 300 .300 300 300 300 .300
.300 .300 .300 .300 .300 .300 .300
.300 .300 .300 .300 .300 .300 .300
.300 .300 .300 .300 .300 .300 .300
.300 .300 .300 .300 .300 .300 .300
.300 .300 .300 .300 .300 .300 .300
B R | .300 .300 .300 .300 .300 .300 .300
.300 .300 .300 .300 .300 .300 .300
.300 .300 .300 .300 .300 .300
.300 .300 .300 .300
.300 .300 .300 .300
.300 .300 .300 .300
W E GHE) =il (RE) | s (i) 5 900 [_9.000 [9.000 9.900
ROCRE) =R\ HECHE) .900 .900 .900 36.100 39.900
HiEH .000 .000 .000 39.200 41.300
R (HE) =2 HECHE) .900 .900 .900 33.100 36.900
EhH .000 . .000 .000 36.200 38.300
BR(PH)=AXES HHCHE) 29.600 28.500 29.600 29.600 28.500 30.600
KB 12.900 .800 12.900 12.900 .800 12.900
KBz (B#E) =R 1E PN 33.800 .700 33.800 33.800 .700 36.400
HiE% 33.800 .700 33.800 33.800 .700 33.700
INA=REE (BRER) IINB B 28.400 .200 28.400 28.400 .200 31.600
PR (FRER) 28.400 .200 28.400 28.400 .200 31.600
ZEHE (PE) =48 (FH)| 2T E (hIB) F .600 22.200 23.600 23.600 22.200 23.600
.600
.600
.600
RE) £ .300
.600
.600
.600
FEIL=548 (RE) FALL .700
T (8 5 700
W ORH) =H1E RE) £ .000
.500
.500
.500
.700
.700
.700
RiEH 700
.700
.700
.700
.500
.500
.700
(R =B G IE IS .700
.800
.800
.800
.800
7.800
7.800
7.800
EEHHE 8.400
8.400
7.800
7.800
.800
.800
.800
.800 X
iR (R =AKE ik () R .400 E X .600
.100 6.300 .100 6.600
AREH 8.400 7.300 8.400 7.600
7.100 6.300 7.100 6.600
7.100 6.300 7.100 6,600

JTA



MEBE5 1 BER(TA21~22BEES)

WEBAE . 2018/01/23 ~
PR A 7720 7722
) FRITA| RO | erTA | Seas(rB | RHTA| K@HTB
s;% EwE | ENE | ENE | ERE
KBz (BI#E) =h#E (BBE) | KPR (B & | | .600 26.500 .000 2.900
200 20,100 700 7.700
500 | 14,600 500 4600
A GEVER) 36 |_NUO2 | 500 | 14,600 500 4,600
000 | 20,000 900 | 22,800
400 3.400 | 26400 | 25400
1BRE=h 4% (IRE) BER .300 .300 .300 .300
300 300 300 300
300 300 300 300
300 300 300 300
300 300 300 300
300 300 300 300
A G 36 | 300 300 300 300
300 300 300 300
300 300 300 300
300 300 300 300
300 300 300 300
300 | 12,300 300 300
W GRE) -l (BT | edl (i % 900 | 9,800 900 700
ROAE)=R1E W G % 0,000 | 38000 900 100
EiEg 2.000 | 39.200 200
RRAE) =B & W CRE % 7:900 | 35000 900
BE® 000 | 36,200 200
RROAE)-AKE | BaCREI# 600 | 29.600 | 29.500
ETE] 900 | 12,800 900
KR () =R 8 PNAC L 500 | 35.300 800
B g 700 | 31,000 200
r=TET ) A 600 | 28.400 600
FEFIER JE 600 | 28.400 600
AEE (PER) =08 ()| BHE (R R .600 22.200 23.600
(I8
=4k (3ER) [EES
EFIER A
(| =RiE (I8
RIEFR
SHEE(BRE) =EE G IE IS
S
RBR)=AKE G IE IS .600 .600 .600 600
400 6600 400 6600
KB 8.600 7.600 8600 7600
7400 6600 7400 6600
7400 6600 7400 6600

JTA



EEEAR

2018/01/23

rEJEI5 EER(BA6~IHRBESD)

=40]

KR (BAE) =50k (AR ER)

KR (Bi#E) 5 [ NUoO1 |

H/IMTA

%5417

8/6

8/7

8/8

8/9

FAFITA | 5£184M7B | RE/IMIA| £BIIB| £FIMIA

#155478

FAFITA

#15517B

kg ]

R ERE

ERE

ERE

ERE

ERE

ERE

ERE

32,400 .300

32.400

.300

32.400

1.300

32.400

31.300

28,800 .800

28.800

.800

28.800

'7.800

23.800 .800

23.800

25.800

4,800

ik (FRER) ¢ | NUOO2 |

24,600

24.600

24.600

3,600

28.800

28.400

24.600

27.800

23.600

28,600

28.600

28.600

7,600

28.600

27.600

34.300

1BRE=h 4% (IRE)

BER

25,800

34.300

25.800

30.100

29.000

30.100

26.200

ik (RER) R | !

o CRE) =48 (IR
ROCHE)=RE

i (IRE)

HE CHE) #

HiES

RRECAR)=8EH

RRECAE)=AXRE

KR (BFE) =R

MR=3EE GIRER)

N7

iR (ARER)

BEE (PED) =ik (RE)

BEE (PR

ik (RER) R

FEIL=3#8 GIR &)

Bl LLI 5

i (IRE)

@ (BF)=1E

ik (RER) R

wER

(R =B

ik () R

7600

7.900

7.900

8.700

8.700

7.900

7.900

7:900

.700

.700

.700

.700

iR (R =AKE

ik () R

400

300 6:500

6:500

6:500

6:500

AXRBR

9500 7400

7.400

7.400

7.400

7.300 6.500

6.500

6.500

6.500

7,300 6,500

6,500

6,500

6,500

28.300

JTA



MEB8E5| 1 BEER(BA10~13BEES)

B A A 2018/01/23 _~
Py Py 8/10 8711 8/12 8/13
- REION| RBITE | B TA | £EITE | REITA] £RITE| REHTA] £RITE| REHTA] ERITE
KR (BAEE) =48 (3VER) | ABR (B9Z8)% | NUOOT | 32.400 31,300 32.400 31,300 32.400 31,300
29,600 28,600 29,600 28,600 29,600 28,600
28.400 28.300 28.400 28.300 28.400 28.300
TR (BB % | 24,600 23,600 24,600 23,600 24,600 23,600
28,600 27600 28,600 27600 28,600 27600
30.100 29,000 30.100 29,000 30.100 29,000
1RRE=i0 48 (RE) EEEES 25,800 23800 | 26800 | 24800 | 26.800 | 24.800 |
26.200 24,200 27.300 25.300 27.300 25.300
22,100 20.100 23.100 600 23.100 600
22,100 20.100 22.400 22.400 600
22,100 20.100 21400 21400 1100
22.700 21,600 22,700 600
Er I ERN 23,000 21,000 23,000 000
2,500 20,500
700 20,700
700 700
700 700
200 200
T GBI =l (ARE) | o (b % 28,700 000
R(AHE)=-RE B CHE) % 700 100
HIER 700 700
RRCHE)=E& Ha CHE) % 600 58.800
T 600 42,600
RRECAB)=AKE | &= (HE)% 000 43.200
XBE 29.200 33.500
KR (&) =R 18 KB (BAT) 5 .300 35,800
HEF 300 2.300
M= R N EE 500 400
S0 R 3 500 400
BEE (PE) =R (BB B E (PH) R 35.400 .900
5.400 X 36.900
400 500 0.200 30.100
200 30.700 29.200 29,100
ErC ] 100 22,000 2,600 24,000
900 33.900 900 33.900
400 33.400 400 3
400 33.400 400 3
=304 (B E) [EITES 400 37.400 38.900 3 3
S0 R % 400 | 37,900 8.400 [_ss. [ s
RGB) -6 ErCEIE] 900 | 9,000 300 . o
10.200 700 600 1 [«
10.200 700 600 1 [«
10200 | 9.700 600 1 [«
.900 .000 300 [ o [ o
.900 000 300 [ o
900 .000 300 [ o [«
RiER .900 .000 .900 [
900 .000 .900 [
900 .000 .900 [
900 .000 .900 [
10.200 700 10.200 1
10.200 700 10.200 1
900 .000 .900 [«
SHEE(BRE) =EE G IE IS .200 .000 .800
400 .000 800
400 .000 800
400 .000 800
900 200 .200
900 .200 .200
900 .200 .200
900 200 .200
BaR .200 .000 .200
200 .000 .200
900 200 .900
900 200 .900
400 .000 400
400 .000 400
400 .000 400
400 .000 400
RBR)=AKE G IE IS .500 400 .900 X X X
300 6.500 900 800 900 } 1900 .
AKBR 9.500 7.400 9.600 7.500 9.800 9.700 9.900 9.800
7.300 6.500 7.400 6.600 7.700 7.600 7.900 7.800
7,300 6.500 7.400 6.600 7,700 7.600 7.900 7.800

JTA



MEB8E5| 1 BER(BA14~1THEES)

EEBAE 2018/01/23 ~
P PR 8/14 8/15 8/16 8/17
- REION| RBITE | A | £BATE | REITA] £RITE| REHTA] £RITE| REHTA] ERITE
Gibm | ®RE | wam | sf@ | ene | @we | wnw | wam
KR (B#8) =048 (ARER) | KPR (BSFE)F [_NU0OT | 32,400 31.300 32.400 32.400 31.300 29.100
29,600 22,700 21.600 25.000
28,200
FABE || 28500
29,500
30.900
=) ETEES 25 800
26.200
22,100
22,100
22,100
22,700
FABE || 23500
24,000
24.800
25.800
25.800
25.800
W CRE) =R (ARE) | hiB () F 3.500
ROCRE) =R\ W CHE)# 6.700
HiEH 7.200
R (HE) =2 W CHE) .600
e .800
TR ARE | EEGBE 000
KEF .500
KR (BIEE) =R 18 K (RAP) 5 300
HiE% .400
AR T 2500
SR (FRER) 5 35.500
EEE (FE) A AR (PED % sa00
.400
.400
AT % 700
.800 .
.800 .800
.800 7.800
A=A R EE 400 37400
iR (FRER) .900 .800
ABHEE | #RBEE 600 a0
.900 .400
.900 .400
.900 .400
.600 .700
.600 .700
600 .700
BEE 300 | 0500 T o
300 | 9500 9500 0500
300 | 9500 9500 9500
300 | 9500 9500 [ 9.500
.600 10.200 10.200 10.200
600 | 10,200 10200 10200
300 | 9500 9500 9500
FRBB-EE | PRER 500 a0 70 700
.100 .700 .700 .700
.100 .700 .700 .000
.100 .700 .700 .000
.600 .900 .900 .900
.600 7.900 7.900 7.900
.600 7.900 7.900 7.900
.600 7.900 7.900 .200
S .800 .200 .200 .200
.800 .200 .200 .200
.200 .600 .600 .600
.200 .600 .600 .600
.800 .200 .200 .200
.800 .200 .200 .200
.800 .200 .200 .200
.800 .200 .200 .200
FABRARE | PAGE 500 17400 Zm o
.300 6.500 6.500 6.500 .600
AKEH 9.900 9.800 9.800 9.800 9.800
7.900 7.800 7.800 7.800 7.700
7,900 7,800 7,800 7,800 7,700

JTA



M&EFE5 EER(BA18~208EFES)

EEEAA 2018/01/23 _~
PRy A 5/18 [E /20
) FRITN| RIMTB | s 7A | %3175 | BITA] EBHTE| ERIITA| £EITE
KB (BS7E) =h#% (IBER) | KPR (BIdE)F | _NU0O1 | 29.100 25.400 21.500 20.400
25,000 21,000 18.200 200
22,600 20,000 500
R (AR F | _NU002 | 25.900 20.800 .300
20,500 20,500 500
30.900 28,600 600
1BRE=h 4% (IRE) BER 22,500 21.500 500
2,500 21,500 500
100 20,100 100
100 20,100
100 20,100
500 20,500
B R | .200 20.300
500 21,500
700 22.800
700 23,800
700 23,800
200 22,500
FE (0 (B | (% 000 [ 9.0
= (HE)=RE e CRE) % 700 ; 2,700
EHE% 700 700 7.700
R (HE) =88 e CHEE 600 4,600 3,600
=E% 600 X 5,600 5,600
RRAE)-AKS | mmOHE)* 600 | 30,500 1,600 7.400
KB 000 | 32000 | 33000 2.000
KR (B =R 0 (BEPA) % 300 | 31,300 | 32300 28,000
P 400 | 33.400 | 36400 4,400
INE= R (I ER) NS 500 | 28,400 0,500 7,600
ETIER X 500 | 31,400 500 7.600
AEE (PER) =08 ()| BHE (R R .000 33,000 .000 33.000
000 | 33,000 000 3,000
000 | 18,500 000 400
000 | 18,500 000 400
HRORE) % 25.800 | 25300 | 25.800 400
38400 | 37.900 | 38.400 200
37700 | 37200 | 37.700 6.700
37700 | 37200 | 37.700 6.700
G e NS 20600 | 28600 | 26,500 26,500
ETIER I 38400 | 37.900 | 38,400 26,500
(| =RiE (I8 .900 [ 9.000 .900 .800
10200 700 10200 700
10.200 700 10.200 700
10200 | 9700 10.200 700
600 000 600 800
9.900 000 900 500
900 000 900 500
BEE 000 200 000 800
000 200 000 800
000 200 000 800
000 200 000 500
300 | 9.900 300 10,000
300 | 9.900 300 10,000
000 200 000 800
SHEE(BRE) =EE G IE IS .200 .000 .200 .000
400 000 400 400
400 000 400 100
400 000 400 100
900 200 900 400
900 200 900 100
900 200 900 100
900 200 900 1100
S .500 .000 .500 .000
500 000 500 000
900 300 900 400
900 300 900 400
500 000 500 400
500 000 500 400
500 000 500 400
500 000 500 X 100 X
RBR)=AKE G IE IS .700 700 .700 700 .500 400
600 6.800 600 6.800 300 6,500
ARBF 9.800 9.700 9.800 9.700 8500 7.400
7.700 7.600 7.700 7.600 7.300 6.500
7.700 7.600 7.700 7.600 7.300 6,500

JTA



[R——5%1G1EEXR(TA2~8BEES)

EBEREAB 2018/01/23 ~
71/2-8
F A= —%E
R B2 | AR [ [E7W o
el "
KRR (BE7E) =348 (ARER) | KPx(BIF)F |[_NU0OT 55 20.300 50% |#£:23.900, £:23.500
55 .600 62% |[#£+:19.100
55 .200 68%
R RE) % 55 200 | 68%
55 .100 58% | H:18.700
55 20.300 50% | H:22.800
TER=5 8 5 % 55 000
55 .000
55 .000
55 .000
55 .000
55 .000
B % 55 000
55 .000
55 .000
55 .000
55 .000
55 .000
RE(HE)=H1E HRE(CHHE) % 55 .100 56% |#£:31.100, £:32.000
U 55 .100 56% [#£:31.100, £:32.000
RiEH U 55 .700 64%
U 55 .200 52% [#£:32.500, H:36.900
HR(CAE)=EH = CHE) ¥ U021 | 55 .100 58% |4:28.100, £:29.000
= U022 55 0.200 53% [#£:29.500, H:33.900
KBz (BS#E) =R 1E PN U083 55 20.000 65%
Hiag U086 55 20.000 65%
INA=REE (BRER) IINB B uo37 55 .700 55% |#+ H:26.800
PR (FRER) U 55 .700 55% |#+ H:26.800
BEE (PE) =8 (5)| & =2 (P H) 5| _NU 55 700 | 534
U 55 .700 53%
U 55 .700 68% |+ H:14.800
U 55 .700 68% [#£:22.200, + H:14.800
RGNS & U 55 .700 68% [#£:15.300, H:14.800
U 55 .700 53%
U 55 .700 53%
U 55 .700 53%
=4k (3ER) [ElTE: S 55 .500 42% 8.100, H:24.500
ShiB (FRER) 55 .500 42% 4.500, H:28.100
e R T % 55 300 | 3% 7.0
55 .700 68%
55 .700 68%
55 .700 68%
55 .300 73%
55 7.000 74%
55 7.000 74% K
RiER 55 7.300 73% K:7.000
55 7.300 73% K:7.000
55 7.300 73% K:7.000
55 7.000 74% 7.300
55 8.700 68% K:8.400
55 8.700 68% K:8.400
55 7.300 7 K:7.000
EIe I HROE) % 55 7,600 £:7.300
55 7.600 K:7.300
55 7.600 ¢ 7K:7.300
55 7.600 ¢ 7K:7.300
55 7.200 66! K:6.900
55 6.900 67% 7.200
55 6.900 67% 7.200
55 7.200 66% 7K:6.900
EHHE 55 7.600 64% K:7.300
55 7.600 64% K:7.300
55 7.200 66% K:6.900
55 7.200 66% K:6.900
55 7.600 64% K:7.300
55 7.600 64% K:7.300
55 7.600 64% K:7.300
55 7.300 65% 1+ H:7.600
R BB =AXS ShiE (FRER) 55 6.300 50% 1 H:6.600
AKES 55 5.800 54% 1 H:6.100

JTA



[R—N—%FIHEEXR(TAI~12BEBRES)

WEEAA . 2018/01/23 ~
71/9-12
FH A—IN—5%F
= B2 | AR [ [E7W e
il IE "
KR (BI78) =4 (V%) | KBk (B%) % | NUOOT | 65 20300 | 50%
55 .600 62%
55 .200 68%
ol GV % 55 200 |_68%
55 .100 58%
55 20.300 50%
TR =4 () wERE 55 000
55 .000
55 .000
55 .000
55 .000
55 .000
ol GV % 55 000
55 .000
55 .000
55 .000
55 .000
55 .000
R (HE)-RE R (CAE) % 55 100 | 56%
U 55 .100 56%
RIEFR U 55 .700 64%
U 55 .200 52%
RRECAB)=E# S5 CRIE) % U021 | 55 .100 58%
= U022 55 0.200 53%
KBz (BS#E) =R 1E PN U083 55 20.000 65%
Hiag U086 55 20.000 65%
INE= R (I ER) AR U037 | 55 700 | 534
PR (FRER) U 55 .700 53%
BEE (PED) =94 ()| & 2 (PER) [ NU 55 700 | 534
U 55 .700 53%
U 55 .700 68%
U 55 .700 68%
GV % | _NU 55 700 | 684
U 55 .700 53%
U 55 .700 53%
U 55 .700 53%
R =38 B ) I 55 500 | _40%
PR (FRER) 55 .500 40%
EXEE St il GBI R 55 000 | 74% [BH:7:300
55 400 69% | A:8.700
55 400 69% | A:8.700
55 400 69% | A:8.700
55 .000 7 7.300
55 7.000 7
55 7.000 7
RiER 55 7.000 7 H:7.300
55 7.000 7 H:7.300
55 7.000 7 H:7.300
55 7.000 7 N
55 8.400 69% | A:8.700
55 8.400 69% | A:8.700
55 7.000 74% | B:7.300
() =B ik () R 55 7.300 65% | H:7.600
55 7.300 65% 7.600
55 7.300 65% | A:7.600
55 7.300 65% | A:7.600
55 .900 7 H:7.200
55 .900 7
55 .900 7
55 .900 7% | 4:7.200
EEES 55 .300 65% | H:7.600
55 7.300 65% | A:7.600
55 6.900 67% 7.200
55 6.900 67% | A:7.200
55 7.300 65% | A:7.600
55 7.300 65% | A:7.600
55 7.300 65% | A:7.600
55 7.300 65%
R BB =AXS ShiE (FRER) 55 6.300 50%
AKEF 55 5.800 54%

JTA



TR—N\—%FGIHEER(TA23~29B8EFEN)

WEEAA . 2018/01/23 ~
7/23-29
4 A—R—%l
= B2 | AR [ [E7W e
il IE "
KR (BI78) =4 (V%) | KBk (B%) % | NUOOT | 65 100 | 48% [#1:23900
55 .900 59% [#+:19.100
55 .200 68%
ol GV % 55 200 | _68%
55 .900 51% | H:21.300
55 200 | 46% | H:24.100
TR =4 () wERE 55 000
55 .000
55 .000
55 .000
55 .000
55 .000
ol GV % 55 000
55 .000
55 .000
55 .000
55 .000
55 .000
PR (FRER) 55 700 80%
HECHE) 55 .400 52%
Hiag 55 .500 47%
RR(PE)=Ed HECHE) 55 .400 53%
EhH 55 .500 48%
BR(PH)=AXES HECHE) 55 .800 49%
AKEFE 55 .700 7% 5.400
Kz (BA#E)=H1E K (P87 5 55 300 43% | 2:29.900. £:32.600
Hiag 55 .300 43% 31.600. £:29.200. H:31.400
INA=REE (BRER) NI U 55 .700 53% + H:26.800
PR (FRER) U 55 .700 53% + H:26.800
BEE (PED) =9 H ()| B 2 (PER) [ NU 55 700 | 534
U 55 .700 53%
U 55 .700 68% |+ H:15.800
U 55 .700 68% |#£:22.200, £ H:15.800
AR (IRER) U 55 .700 68% [#:16.300, £:15.200. H:15.800
U 55 .700 53%
U 55 .700 53%
U 55 .700 53
=4k (3ER) [FATE 55 29.800 27 % 1:33.400
PR (FIRER) 55 29.800 27 H:33.400
GV =R 18 il GBI 5 55 7.400 | 73 KA7.100
55 .900 7' A XK:8.600
55 .900 7' A XK:8.600
55 .900 7' A XK:8.600
55 400 KIKK:7.100
55 7.100 7 21 .
55 7.100 7
RIEFR 55 7.400 7
55 7.400 73%
55 7.400 73
55 7.100 74¢
55 8.900 67
55 8.900 67
55 7.400 73
G =B & G % 55 7.800 | _63%
55 7.800 63%
55 7.800 63%
55 7.800 63%
55 7.400 65%
55 7.100 66%
55 7.100 66%
55 7.400 65%
S 55 7.800 63%
55 7.800 63%
55 7.400 65%
55 7.400 65%
55 7.800 63%
55 7.800 63%
55 7.800 63%
55 1.500 64%
T =AKE | wH ) R 55 500 | 49%
55 .900 54%
AXER 55 .500 49%
55 .900 54%
55 ,.900 54%

JTA



[R——%BHEER(TA0~8A2BERD)

EEEAA . 2018/01/23 ~
7/30-8/2
FH Z—IN—5%15
= B2 | AR [ [E7W o
il I "
KR (R 78) =4 (8 | AR (B7) % | _NU00i | 65 100 | 48% | JKA:30.000
55 900 | 50% | JKA:26.400
55 200 | 68%
RE) % 55 .200 68%
55 900 | 51% | JKA:26.200
55 200 | 46% | 7KA:30.000
1RRE=i0 48 (RE) EEEES 55 .000
55 000
55 000
55 000
55 000
55 000
RE) % 55 .000
55 000
55 000
55 000
55 000
062 | 55 000
048 (GBER) % | NU0S0 | 65 700 80%
WE CHE) % | NU073 | 65 400 | 52% | KA
Al U076 | 55 500 | _47% | KA
RRCHE)=E& Wa CHE) % | NU021 | 65 400 | 53% | kA
T U022 | 55 500 | 48% | kA
RRECAE)=A%kE | W= CHE)% | NU09T | 55 800 | _49% | KA
AKBFE U090 | 55 700 _|_77%
KiE () =R 18 il (F75) % | NU0B3 | 65 300 | _43% | JKA:34.500
i U086 | 55 300 | 43% | JKA:34.500
M= EE () N7 U 55 .700 53%
g B % | NU 55 700 | 53%
BEE (A =148 (BBHF)| B EE (P8 F|_NU 55 .700 53%
U 55 700 | 53%
U 55 700 | 68% |7K:15.000, A:17.300
U 55 700 | 68% |7K:15.000, K:17.300
(N8 % |_NU 55 700 | 68% | A:16.800
U 55 700 | 53%
U 55 700 | 53%
U 55 700 |53
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HiEH 55 7.900 45%
RR(HE) =24 W CHE) $# 55 .900 49%
= 55 .900 46%
RE(PA)=AXE W CHE) 55 .600 33%
AKEBF 55 700 7% H:15.400
KR (B8#8)=H1E KBy (BRFE) 5 55 26.900 53%
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55 .600 68%
ARG EE | PRGDE 55 400 | oo
55 .400 60%
55 .400 60%
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HECHE) 55 27.800 60% | & +:29.400
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55 7.900 62%
55 8.200 61% X
55 8.200 61%
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55 7.200 66%
55 7.500 64% 9
EHHE 55 7.900 62%
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7! 7.700 2% A XK:7.400
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7! .700 75% | :KIKAK:6.400
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7! .200 70% [ :KIKAK:5.900
7! .700 68% | :KIKAK:6.400
7! .700 68% | :KIKAK:6.400
7 .700 68% 7K K:6.400
7! .400 69% = 700
R BB =AXS ShiE (FRER) 7 .000 53% = .300
AKEF 7 .900 61% = .200

JTA



TN RFIEER(TAI~12BEBESD)

EEEAA . 2018/01/23 ~
71/9-12
I ILNSRF
B B2 | AR [ [E7W e
1L "
KR (BE) =48 (FRE) | KBx (BS#E) % | _NU0OT | 7 19.300 53%
7! 8.300 80%
7! .800 69%
REE R | 7 .800 69%
7! 200 60%
7! .300 53%
1RRE=i0 48 (RE) EEEES 7! 600 62%
7! .600 62%
7! .600 65%
7! .600 65%
7! .600 65%
7! .600 65%
REE R | 7 .600 65%
7! .600 65%
7! .600 65%
7! .600 62%
7! .600 62%
7! .600 65%
R (RE)=EE R (RE) R 7 29.000 | 58%
U 7! 29.000 58%
RIEFR U 7! 24.000 65%
U 7! 32.100 53%
R (HE) =2 HECHE) uo02 7! 26.000 60%
o U022 7! 29.100 55%
ENACEE K0 (P7a) % | NU083 | 7 500 | 66%
Hiag U086 7! .500 66%
M= EE () N7 U037 | 7! .500 53%
PR (FRER) U 7! .500 53%
BEE (PR =148 ()| B EE (P8 R _NU 7 .300 53%
U 7! .300 53%
U 7! .000 74% | H:12.600
U 7! .000 74% | H:12.600
(I8 U 7! .500 73% | A:13.200
U 7! .300 53%
U 7! .300 53%
U 7! .300 53%
FEIL=h48 () Bl LU 5 uot 7 .300 40%
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48 o) N-aEE
TESE5I ERER(10A1~4BERS)
WEHEAE 2018/01/23 ~
0714
FBITA #185178
b
=] E% = - —
EIEES
KR (BId8) =448 (BBE) | KMk (BZE)F [ _NU0OI 49%
[ NU00S 61%
U009 64%
8GR % [ _NU002 | 7
[ NUOO4 59%
U008 49%
1ER=i48 (IR ER) EHEES [_NUost 59%
[ NU053 59%
[ NUO57 62%
[ NUO6 T 62%
[ NUO63 62%
U065 62%
8GR % [ _NU0SO | [
[ NUO52 62%
[ NUO54 62%
[ NUOs8 59%
[NUO60 R
U062 5%
TR (HE)-RE | JUR(3E) % | NUOZ o
Loz 56%
RER Uo7 56%
o 51%
HR(AB)-EH W@ CHE) % | NU02 D
EE R 0022 0
KR (BE)=R1E Fls (RA7E) % | NU0B3 4% | HIK75.600
Fia % U086 53
INER=hiR (BRER) INEEE U037 4
S8 (AEE) % | NUO3G 4
TR (RER) =34k (BPH)| B R (k) 5E|_NU
L F:14.600
L #:14.600
R % | NU 14,600
FELLI=3h38 (BB ER) FEILLI 5 uot
Sl (FREE) % | NUOIG | —
i (BBER)=R1E AR (IRER) 5 | _NU60 200
[NUG05 200
|-hu607 | 200
[NUG09 200
ECITAER 200
[NU621
U625
BIER [ NU600
[ NUG08
U610
U612
[NUG14
[ NU622
U626
EOBE) =BG P8 (GRER) F [ NUS51
[ NU557
[ NU559
[ NU581
[ NU565
[ NU567
U571
U573
EE® [ NU5% |
[ NU556
[ NUS558
[ NU560
[ NU582
[ NU564
U566
U572
RGP -AKE | @RE % | NU2IT
KB U212

JTA



48 oy

A=
[£BEI5 EER(10A10~14AHBES)
WEEAE 2018/01/23 ~
T0770-14
FBITA #185178
b
= e % e %
BAMR | " FTHES
KBR (BSEE) =348 (BRFR) | KBR(BIFE) % | _NU0OI & 1:23.500 A5H Al 400 49% |#&+:22.400
[ NU00S £+:19.200 458 100 | 61% [#+:18.100
U009 458 800 | 64%
% (B8 5 |_NU002 458 800 | 64%
[ NUOO4 H.19.500 458 900 | 59% |H:18400
U008 H:23.500 458 400 | 49% |H:22.400
1ER=i48 (IR ER) EEEES [ _NUO51 458 600 59%
[ NU053 458 600 | 59%
[ NUO57 458 600 | 62%
[ NUO6 T 458 600 | 62%
[ NUO63 458 600 | 62%
U065 458 600 | 62%
4 (BF) 5 |_NUOS0 458 600 | 62%
[ NUO52 458 600 | 62%
[ NUO54 458 600 | 62%
[ NUOs8 458 600 | 59%
[NUO60 458 600 | 59%
U062 458 600 | 62%
HRCHE)=RE HECHE) % uo7 £1:33700 456 200 56% | /K7K:29.300, 2 1:30.900
Uo7 £ 33700 458 200 | 56% [/KA:29.300, % F:30900
BERE Uo7 . 458 200 | 56% |
Uo7 1:35.800 458 300 | 5% 000
RR(AE)-BE Hw GAE) % | NU02 > +:30.700 458 200 | 58% 26,300, % :27.900
Eh R 0022 [5:32.800 458 300 | 53% [H:30000
KR (BE)=R1E Fls (RA7E) % | NU0B3 600, £:20.400 458 900 | 54% [/KH.25600. & T 26900
Fia % U086 700 458 600 | 53% 6,700
N (R DR U037 7KK :25.300 458 400 | 45% 21,200
S8 (AEE) % | NUO3G JKA:25.300 458 400 | 45% 21.200
TR (RER) =34k (BPH)| B R (k) 5E|_NU 458 400
U 458 400
U 1+ H:16.800 458 400 £:15.100. H:14.900
U £:19.900. T H:16 800 458 400 219,400, F:15.100. H:14.900
T (e % | NU 17,300, F:16.200. H:16.800 458 400 15400, H:15.100
u 458
u 458
U 458
FLLI=5 48 (R ER) [EZIES o1 456
8 (I¥) % | NUOT 458
i (BBER)=R1E ik (BRER) J | _NU6GO 458
[NUG05 458
["NU607 458
[NUG09 458
["NU617 458
[NU621 458
U625 458
aiER [ NU60O | 456
[ NUG08 458
U610 458
U612 458
[NUG14 458 68% |1
[ NU622 458 68% |1
U626 458 72% [
P (R =EE A8 OGRER) S [ NUS51 | 458 Rl
[ NU557 458 7
[ NU559 458 ki
[ NU581 458 3% |
[ NU565 7 458 66% |1
[ NU567 7 458 66% |1
U571 7 458 66% |1
U573 [ 458
Ea% | _NUSh2 7 458
[ NU556 7 458
[ NUS558 7 458
[ NU560 7 456
[ NU582 7 456
[ NU564 7 456
U566 7 458
U572 7 458
R GPE)-AKE | R GREs % | NU21T 7 458
KB U212 7 458

JTA



M4

48 ooy

=

ZI5I I EER(10A15~21 BEES)

o
WEEAE 2018/01/23 ~
T0/75-21
=) i 23 FMITA A7
T8 B
kil AR | ERR | 5w i
KBR (BSEE) =348 (BRFR) | KBR(BIFE) % | _NU0OI & 1:23.500 A5H Al 400 49% |#&+:22.400
[ NU00S £+:19.200 458 100 | 61% [#+:18.100
U009 458 800 | 64%
% (B8 5 |_NU002 458 800 | 64%
[ NUOO4 H.19.500 458 900 | 59% |H:18400
U008 H:23.500 458 400 | 49% |H:22.400
1ER=i48 (IR ER) EEEES [ _NUO51 458 600 59%
[ NUOS! 458 600 | 59%
[ NUOS’ 458 600 | 62%
[ NUO6 458 600 | 62%
[ NUOS: 458 600 | 62%
U06: 458 600 | 62%
T4 (WF) 5 |_NUOS 458 600 | 62%
[ NUOS: 458 600 | 62%
[ NUOS: 458 600 | 62%
[ NUOS¢ 458 600 | 59%
[ NUOs( 458 600 | 59%
U062 458 600 | 62%
HFE(PE)=-FE HR(FE) R Uo7 % £:33.700 458 300 56% |2 £:30.900. H:29.200
Uo7 £+:33700 458 300 | 56% |2 F:30.900. H:29.200
RER Uo7 T 458 200 | 56% |
Uo7 5800 458 300 | 51% [H:33000
AR (OE)-BE Hw GAE) % | NU02 30.700 458 300 | 58% 27,900, H:26.200
EE R U022 [5:32.800 458 300 | 53% |H:30000
KR (BE)=R1E Fls (RA7E) % | NU0B3 8,600, £:20.400 458 600 | 53% [A:24900. % 26,900
Fia % U086 8 700 458 600 | 53% 6.700
IN=3R 4R (BRER) AN U037 t H:28.500 458 200 4! £ H:25.400
S8 (AEE) % | NUO3G t H:28.500 458 200 4 + H:25.400
TR (RER) =34k (BPH)| B R (k) 5E|_NU 458 400
U 458 400
U T H:16800 458 400 F:14.600, £:15.100, H:14900
U £:19.900. T H:16 800 458 400 514,600, %:19.400, F.15.100. H:14900
R E R [_NU £:17.300. £:16.200. H:16,800 458 400 514,600, %:15.400, H:15.100
u 458
u 458
U 458
FEL=;h 48 (R ER) [FITES uot 458
8 (I¥) % | NUOT [ 458
i (BBER)=R1E ik (BRER) J | _NUGO1 | 28T | ¢ 68% 4505
["NU605 | 28 Al | ¢ 64% 458
["NU607 | 28T | 64% 458
["NU609 | 28 Al | ¢ 64% 458
[NU617 | 28ET | ¢ 68% X 458
["NU621 | o8B & | 7 69% |4 } 458
U625 | 28EAT | 7 69% | & T 8,200 458
G | _NU600 | 28HAl | 8 68% | X JKAK.7.900 458
[_NU60s | 28l | 8 68% | XJKK.7.900 458
U610 | 28FEIAT | 8 68% | X JKAK.7.900 458
U612 | 28E1ET | 69% £ F.8.200 458
["NU6ia | o8F@I | ¢ 64% 900 458
[ NU622 | 28 @il | ¢ 64% 900 458
U626 | 28R | ¢ 68% 900 458
EOBE) =BG SPABOGRER) S [ NUSS1 | 28EIAT | € 59% .700 458
[ NUS57 | o8 @l | ¢ 59% 700 458
[ NUS59 | o8F@m | ¢ 59% 700 458
[ NUS81 | o8F@m | ¢ 59% 700 458
[_NUS65 | 28E I | 7 61% 300 458
["NUS67 | 28 63% 600 458
U571 | 28EAl | 7 63% 600 458
U573 | 28EAI | 7 61% | A JK.7.300 458
E@% | NUS52 | osHAl | 8 59% | XJKAK.7.700 458
[ NU556 | 28El | 8 59% | XKAK7.700 458
[ NUS58 | 28E il | 7 61% | X KK.7.300 458
[_NU560 | 28E Al | 7 61% | XKK.7.300 458
[ NUSs2 | 28E#i | 8 59% | XJKAK7.700 458
[ NUS6a | 28Eai | 8 59% | XJKAK7.700 458
U566 | 28EIAT | 8 59% | JKAK7.700 458
U572 | 28EEI | 7 61% 000 458
R -AKE | R (REE) % | NU2T1 | 28EET | 7 37% 700 458
KB U212 | 28EAl | 5 55% 000 458
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48 oy

SEAE
[&£BEI5 EER(10A22~27ARES)
WEEAE 2018/01/23 ~
10/22-27
=) i 23 FMITA A7
% ot %
KR (BId8) =448 (BBF) | KMk (B S [ _Nuoo1 | %1:23500 49% | & +:22.400
[__NU00S £ 1:19.200 61% [#+:18.100
U009 64%
PR GRER) R [ _NUo02 | 64%
[__NU004 59%
U008 49%
1ER=i48 (IR ER) BER [ NUOST } 59%
[_NU053 59%
[__NU057 62%
[_NUO061 62%
[__NU063 62%
U065 62%
4B (IRER) S [ NU0SO | 62%
[__NU052 62%
[_NU054 62%
[_NU058 59%
["NU06O 59%
U062 62%
HRCHE)=RE R CHE) % uo7 £1:33700 56% |2 1:30.900
Uo7: £ 33700 56% |2 1:30.900
BER Uo7 56%
Uo7 51%
HRCHED -8 Hw GAE) % | NU02 £ 30700 58% |2 127900
Eh R 0022 53%
NGB Fls (RA7E) % | NU0B3 28,600, T:20.400 53% | K:24.900. % :26.900
Fia % U086 53%
=R (BB ER) NHAEE U037 & T 28500 4% |2 125400
Sl (FLEE) 3 | NUO3G & T 28500 4% |2 +:25.400
TR (RER) =34k (BPH)| B R (k) 5E|_NU
U 1:16.800 B:14.600. £:15.100
U %:19.900, F:16,800 514,600, %:19.400, F15.100
R E R [_NU A%:17.300. 1:16.200 14600, A%:15400
T \L=h 4% (AR ER) IS uoi £ T 27500 0% | T 26,500
Sl (FREE) % | NUOIG | 40%
R ORE)-RE SRR GRE) R [_NU60 7,900 72 :6.900
[NUG05 69% 200
["NU607 69% 200
[NUG09 69% 200
[ NU617 7 900
[_NUB21 7 +:7.200
U625 7 £:7.200
HER | _NU600 7 KK 6,900
U608 7 KK:6.900
U610 7 KK6.900
U612 7 +:7.200
[NU614 68% |7k A:7.900
[NU622 68% | Jd7KA:7.900
U626 72% | A IKA6.900
EOBE) =BG M (RER) F¢ | NUSST | 63% [ XK A:6.900
[NUS57 63% | J7kA6.900
[NUS59 65% [ A% +7.200
VG 65% | A% +7.200
[NUS65 66% | J7kA6.300
[NUS67 68% |4 00
U571 68% |2 +:6.600
U573 68% [ A% +6.600
EE%E | NUSS2 | 63% [ X IKA:6.900
[NUS56 63% | J7KA6.900
[NUS58 66% | J7KA6.300
[NUS60 66% | Jd7KA6.300
[NUS82 63% | J7KA6.900
[NUS64 63% | J7KA6.900
U566 63% | Jd7kA6.900
U572 65% |4
R GPE)-AKE | R GREs % | NU21T 40% |4
ETE) U212 57% |4

JTA



rEJEEI EER(OA1~2BBRS)

EEEAE . 2018/01/23 ~
%BHTA| 5878 Al 572
) - - AT A | w9178 | KBITA | @517 B
B‘*% EwE | EwE | EwE | ERE
KBz (BI#E) =h#E (BBE) | KPR (B & | | .600 26.500 20.600 .600
[ 000 | 20,000 200 200
700 800 700 800
8 (E) % |_Nuoo2 | 700 800 700 800
[ 20500 500 700 600
000 900 600 | 26,500
1BRE=h 4% (IRE) BER .500 600 500 600
[ 500 600 500 600
[ 500 600 500 600
[ 500 600 500 600
[ 500 600 500 600
500 600 500 600
EIC e 500 600 500 600
[ 500 600 500 600
500 600 500 600
500 600 500 600
500 600 500 600
500 600 500
RR(PE)=R1E RRCHA) .300 .500 .900
300 500 900
REE 900 | 29,000 900
900 | 31.000 400
RRAE) =B & e CHEE 300 | 28500 | 20900
B 900 | 28,000
KR (&) =F 18 Al (BH7E) .000 29,500
B g 20300 | 28200
r=TET ) NS 28500 | 25.400
ETIER X 28500 | 25.400
AR (PER) =08 ()| BHE (R R 28 .700 .400
28 700 400
28 800 100
28 800 100
(I8 28 .200 400
28 700 1.400
28 700 1400
28 700 1400
=4k (3ER) Bl LLI 5% 28 .500 26.500
EFIER A 28 4400 | 22.900
(R =RE B R | 28 .200 7.200
28 200 200
28 200 200
28 200 200
28 200 200
28 200 7.200
28 200 7.200
REE 28 200 7200
28 200 7.200
28 200 7.200
28 200 7.200
28 200 8.200
28 200 8.200
28 200 7.200
ROERT == G IE RS 28 .000 7.200
28 000 7.200
28 000 7.200
28 000 7.200 X
28 600 600 600
28 7.600 600 7.600
28 7.600 600 7.600
28 7.600 600 7.600 X
EER 28 8,000 200 5.000 200
28 8,000 7.200 5.000 7.200
28 7.600 6.600 7.600 6.600
28 7.600 6.600 7.600 6.600
28 000 7.200 000 7.200
28 000 7.200 000 7.200
28 000 7.200 000 7.200
28 000 7.200 000 7.200
HR T -AKS | iR (mE = 28 700 7.600 700 7600
pET L] 28 6.000 5.500 6000 5500

JTA



MEBE5 1 BER (A 14~1TEHEES)

EEBAE 2018/01/23 ~
P PR 9/14 9/15 9/16 9/17
- REION| RBITE | A | £EITE | REITA] £RITE| REHTA] £RIE| REHTA] ERITE
Gibm| ®R@ | wam | sAm | ewe | ewsm | wAm | w%m | e
KR (B =48 (A8) | KPR (%)% | _NUOOT | 500 400 200 | 32,100 900 | 20,800 900 | 20800 |
[ .100 .100 .900 20.800 .700 .600 .700 .600
.700 .700 .300 .900 .400 .900 .400 .900
FrEE(RER) R | _NU002 | .700 .800 .800 .300 .800 .300 .800 .200
[ .000 .900 .200 .100 20.500 .500 .500 .400
20.400 .400 20.400 .400 23.500 .400 33.200 .100
TR () FFES 500 600 | 26,600 | 26.800 | 20.900 200 20.900 400
[ .500 .600 26.600 25.800 20.900 .400 20.900 .400
[ .500 .600 4,700 3.200 .300 .800 .900 .400
[ .500 .600 9.000 .500 .600 .100 .900 .400
[ .500 .600 7.000 .500 .300 .800 .900 .400
.000 .500 7.300 .800 .300 .800 .300 .800
REmE R | .500 .600 20.700 .200 .400 .900 .900
[ .500 .600 .900 .400 .400
.500 .600 .300 .800 .600
.500 .600 23.400 .900 .300
.500 .600 23.400 .900 .300
.500 .600 22.400 20.900 23.300
RRCRE)=R1E RRCHA) .300 .500 35.500 33.500 33.500
.300 .500 3.300 31.300 31.300
REH .900 29.200 .000 32.000 34.500
.700 32.800 .500 36.500 55.400
RRCAE)=8H W CHE) .300 28.500 .000 32.000 32.000
EhH .700 29.800 .100 35.100 51.900
KR (B#E)=H18 KB (BHE) 5 28.600 26.900 7.300 25.800
HiE# 26.700 25.600 0.000 28.500
INKA=3hAR (AR ER) PINE 7.900 25.400 '7.900 25.400
SR (FRER) '7.900 25.400 '7.900 25.400
BEE 8 RS A5E R % 28 700 T 1400 50800 ] 30300
28 .700 .400 30.800 30.300
28 .800 .100 19.800 19.300
28 .800 .300 19.800 19.300
AR (IRER) 28 .300 .400 20.700 20.200
28 .700 .400 35.000 34.500
28 .700 .400 33.600 33.100
28 .700 .400 33.600 33.100
=448 (GRE) [ElITE: S 28 .500 26.500 24.400 22.900
SR (FRER) 28 4,400 22.900 [ 27.500 26.500
FAGHEE | ARG [ 28 200 7200 200 700
28 .200 .200 .200 .200
28 .200 .200 .200 .200
28 .200 .200 .200 .200
28 .200 200 .200 200
28 .200 7.200 .200 7.200
28 .200 7.200 .200 7.200
FER 28 200 7.200 200 7.200
28 .200 7.200 .200 7.200
28 .200 7.200 .200 7.200
28 .200 7.200 .200 7.200
28 .200 8.200 .200 8.200
28 .200 8.200 .200 8.200
28 .200 7.200 .200 7.200
AAHEE | FRBE 28 0007200 000 7200
28 .000 7.200 .000 7.200
28 .000 7.200 .000 7.200
28 .000 7.200 . .000 7.200
28 .600 .600 400 .600 .600
28 7.600 .600 7.400 7.600 .600
28 7.600 .600 7.400 7.600 .600
28 7.600 .600 7.400 7.600 .600
EEHHE 28 8.000 200 7.200 8.000 200
28 8.000 7.200 7.200 8.000 7.200
28 7.600 6.600 6.600 7.600 6.600
28 7.600 6.600 6.600 7.600 6.600
28 .000 7.200 7.200 .000 7.200
28 .000 7.200 7.200 .000 7.200
28 .000 7.200 7.200 .000 7.200
28 .000 7.200 7.200 .000 7.200 A
RGBT -AKE | GEmB® 28 700 7,600 8,000 700 7,600 600
AKEF 28 6.000 5.500 5.500 6.000 5.500 6.900

JTA



MEB8E5| 1 BER(9A18~21 BEES)

EEBAE 2018/01/23 ~
P PR 9/18 9/19 9/20 9/21
- REION| RBITE | A | £EHTE | REITA] £RITE| REHTA| £RITE| REHTA| ERITE
Gibm| ®R@ | wam | sAm | ewe | ewsm | wAm | w%m | e
KRR (B7) =348 (ARE) | KMk (BEAE)F% [ 20.400 .400 20.400 .400 20.400 .400 .500 .400
[ .100 .100 6.100 .100 6.100 .100 .100 .100
.700 .800 4.700 .800 4.700 .800 .700 .700
FrEE(RER) R | _NU002 | .700 .800 4.700 .800 4.700 .800 .700 .800
[ .000 .900 7.000 .900 7.000 .900 .000 .900
20.400 .400 20.400 .400 20.400 .400 20.400 .400
1= (RE) EES .500 .600 .500 .600 .500 .600 .500 .600
[ .500 .600 .500 .600 .500 .600 .500 .600
[ .500 .600 .500 .600 .500 .600 .500 .600
[ .500 .600 .500 .600 .500 .600 .500 .600
[ .500 .600 .500 .600 .500 .600 .500 .600
.500 .600 .500 .600 .500 .600 .000 .500
REmE R | .500 .600 .500 .600 .500 .600 .500 .600
[ .500 .600 .500 .600 .500 .600 .500 .600
.500 .600 .500 .600 .500 .600 .500 .600
.500 .600 .500 .600 .500 .500 .600
.500 .600 .500 .600 .500 .500 .600
.500 .600 .500 .600 .500 .500
RRCRE)=R1E RRCHA) .900 29.200 .900 29.300 .900 .300
.900 29.300 .900 29.300 .900 .300
REH .900 29.200 .900 29.200 .900 .900
.100 32.300 .100 32.300 .100
RRCAE)=8H W CHE) 29.900 26.200 29.900 26.300 29.900
EhH 32,100 29.300 32.100 29.300 32.100
KR (B#E)=H18 KB (BHE) 5 26.700 25.600 26.700 25.600 26.700
HiE# 26.700 25.600 26.700 25.600 26.700
INKA=3hAR (AR ER) I B .700 .200 24.700 .200 24.700
SR (FRER) .700 .200 24.700 .200 24.700
BEE 8 RS A5E R % 28 700 | or400 | 22700 | 2r.400 | 22700
28 .700 .400 2,700 .400 2,700
28 .200 .400 .700 .400 .700
28 .200 4.400 .700 4.400 .700
AR (IRER) 28 .800 .100 .700 4.400 .700
28 .700 .400 22,700 .400 22.700
28 .700 .400 22,700 .400 22.700
28 .700 .400 22.700 .400 22.700
B LL=;h#8 (AR ER) [ElITE: S 28 .400 22.900 24.400 22.900 24.400
SR (FRER) 28 .400 22.900 24.400 22.900 24.400
MR (F) =R\ FEGRER R | 28 7.900 6.900 7.900 6.900 7.900
28 .900 7.900 .900 7.900 .200
28 .900 7.900 .900 7.900 .200
28 .900 7.900 .900 7.900 .200 .
28 .900 .900 .900 .900 .900 200
28 7.900 .900 7.900 .900 7.900 7.200
28 7.900 .900 7.900 .900 7.900 7.200
RiEH 28 7.900 .900 7.900 .900 7.900 7.200
28 7.900 .900 7.900 .900 7.900 7.200
28 7.900 .900 7.900 .900 7.900 7.200
28 7.900 .900 7.900 .900 7.900 X 7.200
28 8.900 .900 8.900 .900 8.900 .900 8.200
28 8.900 7.900 8.900 7.900 8.900 7.900 8.200
28 7.900 .900 7.900 .900 7.900 .900 7.200
ROERT == AR (GIRER) 28 7.700 .900 7.700 .900 7.700 .900 7.200
28 7.700 .900 7.700 .900 7.700 .900 7.200
28 7.700 .900 7.700 .900 8.000 200 7.200
28 7.700 .900 7.700 .900 8.000 7.200 7.200
28 7.300 .300 7.300 .300 7.300 .300 .600
28 7.300 .300 7.300 .300 7.300 .300 .600
28 7.300 .300 7.300 .300 7.300 .300 .600
28 7.300 .300 7.300 .300 7.600 .600 .600
EEHHE 28 7.700 .900 7.700 .900 7.700 .900 200
28 7.700 .900 7.700 .900 7.700 .900 7.200
28 7.300 .300 7.300 .300 7.300 .300 6.600
28 7.300 .300 7.300 .300 7.300 .300 6.600
28 7.700 .900 7.700 .900 7.700 .900 7.200
28 7.700 .900 7.700 .900 7.700 .900 7.200
28 7.700 .900 7.700 .900 7.700 .900 7.200
28 7.700 .900 7.700 .900 7.700 .900 X 7.200
RGBT -AKE | GEmB® 28 7.600 300 7.600 300 7.600 300 700 7.600
AKEF 28 5.500 5.200 5.500 5.200 5.500 5.200 6.000 5.500

JTA



MEB8E5| 1 BER (9A2~25BEFESH)

EEBAE 2018/01/23 ~
P PR 9/22 9/23 9/24 9/25
- REION| ABITE | A | £EATE | REITA| £RITE| REHTA| £RITE| REHTA| ERITE
Gibm| ®R@ | wam | sAm | ewe | ewsm | wAm | w%m | e
KR (B =48 (A8) | KPR (%)% | _NUOOT | 200 | 32,100 900 | 20,800 900 | 20800 | 20400 400
[ .900 20.800 .700 .600 .700 .600 6.100 .100
.300 .900 .400 .900 .400 .900 4.700 .800
FrEE(RER) R | _NU002 | .800 .300 .800 .300 .800 .200 4.700 .800
[ .200 .100 20.500 .500 .500 .400 7.000 .900
20.400 .400 23.500 .400 33.200 .100 20.400 .400
TR () FFES 26600 | 25,800 | 20900 400 20,900 400 500 600
[ 26.600 25.800 20.900 .400 20.900 .400 .500 .600
[ .700 3.200 .300 .800 .900 .400 .500 .600
[ .000 .500 .600 .100 .900 .400 .500 .600
[ .000 .500 .300 .800 .900 .400 .500 .600
.300 .800 .300 .800 .300 .800 .500 .600
SRR GRER) R | 20.700 .400 .900 .900 .500 .600
[ 20.700 .900 .400 .400 .500 .600
.100 .300 .800 .600 .500 .600
.000 23.400 .900 .300 .500
.300 23.400 .900 .300 .500
.400 22.400 20.900 23.300 .500
RRCRE)=R1E HR(PE) R .000 35.500 33.500 33.500 .900
7.000 3.300 31.300 31.300 .900
REH 2,900 .000 32.000 34.500 .900
35.700 .500 36.500 55.400 .100
RRCAE)=8H W CHE) 53.200 .000 32.000 32.000 29.900
EhH 4,000 .100 35.100 51.900 32.100
KR (B#E)=H18 KB (BHE) 5 6.400 7.300 25.800 25.800 26.700
HiE# 7.300 0.000 28.500 .300 26.700
INKA=3hAR (AR ER) PINE 7.900 '7.900 25.400 .200 24.700
SR (FRER) '7.900 '7.900 25.400 .400 24.700
ZEHE (PE) =48 (FH)| 2T E (hIB) F 28 6.500 30.800 30.300 30.300 22.700
28 6.500 30.800 30.300 30.300 2,700
28 20.800 19.800 19.300 19.300 .200
28 19.800 19.800 19.300 20.300 .200
AR (IRER) 28 20.300 20.700 20.200 20.700 .800
28 .500 35.000 34.500 36.200 22.700
28 .500 33.600 33.100 36.200 22.700
28 .500 33.600 33.100 36.200 22.700
=448 (GRE) [ElITE: S 28 .600 24.400 22.900 22.900 24.400
SR (FRER) 28 .400 [ 27.500 26.500 33.500 24.400
MR (F) =R\ FEGRER R | 28 .900 .200 7.200 7.200 7.900
28 .600 .200 .200 7.900 .900
28 .600 .200 .200 7.900 .900
28 .600 .200 .200 7.900 .900
28 .900 .200 200 7.200 .900
28 .900 .200 7.200 6.900 7.900
28 .900 .200 7.200 6.900 7.900
RiEH 28 .200 .200 7.200 7.900 7.900
28 .200 .200 7.200 7.900 7.900
28 .200 .200 7.200 7.900 7.900
28 .200 .200 7.200 7.900 7.900
28 .200 .200 8.200 8.900 8.900
28 .200 .200 8.200 8.900 8.900
28 .200 .200 7.200 7.900 7.900
AT -EE ETAE R L 28 700 1000 7.200 7.200 7.700
28 .700 .000 7.200 7.200 7.700
28 .700 .000 7.200 .900 7.700
28 .700 . .000 7.200 .900 7.700
28 .100 400 .600 .600 .600 7.300
28 .100 7.400 7.600 .600 .300 7.300
28 .100 7.400 7.600 .600 .300 7.300
28 .100 7.400 7.600 .600 .300 7.300
EEHHE 28 .000 7.200 8.000 200 .300 7.700
28 .000 7.200 8.000 7.200 .300 7.700
28 .600 6.600 7.600 6.600 400 7.300
28 7.600 6.600 7.600 6.600 7.400 7.300
28 .000 7.200 .000 7.200 .300 7.700
28 .000 7.200 .000 7.200 .300 7.700
28 .000 7.200 .000 7.200 .300 7.700
28 .000 7.200 .000 7.200 A .300 7.700 .
RGBT -AKE | GEmB® 28 100 8,000 700 7,600 600 300 7,600 300
AKEF 28 .000 5.500 6.000 5.500 6.900 6.200 5.500 5.200

JTA



M&EJE5 1EER(10A5~8AEES)

EEBAE 2018/01/23 ~
— — 7075 7076 7077 7078
- REION| RBITE | A | £EATE | REITA| £RITE| REHTA| £RITE| REHTA| ERITE
Gibm| ®R@ | wam | sAm | ewe | ewsm | wAm | w%m | e
R ()~ (e | KR () 5 | 500 200 200 32.100 900 20800 500 20800
[ .200 .100 .900 20.800 .600 .600 .600 .600
.200 .700 .300 .300 .400 .900 .400 .900
FrEE(RER) R | _NU002 | .600 .100 .800 .300 .800 .300 .800 .800
[ .800 .500 .400 20.500 .500 .500 .400
20.400 20.400 .400 23.500 .400 33.200 .100
B GH) e 21.800 26.600 25.800 20.900 200 20.900 400
[ 21.800 26.600 25.800 20.900 .400 20.900 .400
[ 20.800 4,700 3.200 .300 .800 .900 .400
[ .900 8,000 .500 .600 .100 .900 .400
[ .900 7.000 .500 .300 .800 .900 .400
.900 7.300 .800 .300 .800 .300 .800
EH W E | 300 20.700 200 900 900
[ .600 .200 .400 .400
20.300 .600 .800
21.800 9.500 .900
21.800 9.800 .900
20.400 7.900 20.900
RRCRE)=R1E HR(PE) R 7.700 55.400 32.800
.700 55.400 30.600
P 900 29.200 31.300
.800 2,600 35.700
RRCAE)=8H W CHE) .100 .900 32.000
EhH 6.200 .000 35.100
KR (B#E)=H18 KB (BHE) 5 29.500 .300 25.800
HiE# 27.300 25.800 28.500
A= ) IR 28.500 25.400 25.400
SR (FRER) 28.500 25.400 25.400
BEE 8 RS A5E R % 28 54,100 200 29500
28 34.100 .200 29.600
28 20.500 .600 .700
28 .200 .600 .700
ET e IE] 28 900 100 600
28 .100 29.300 33.600
28 .100 29.300 32.200
28 .100 29.300 32.200
FL= 7 () I 28 500 33.500 22.900
SR (FRER) 28 4,400 22.900 26.500
FAGHEE | ARG [ 28 200 7500 7200
28 .200 .900 .200
28 .200 .900 .200
28 .200 .900 .200
28 .200 .900 200
28 .200 7.900 7.200
28 .200 7.900 7.200
TER 28 200 7.200 7.200
28 .200 7.200 7.200
28 .200 7.200 7.200
28 .200 7.200 7.200
28 .200 8.200 8.200
28 .200 8.200 8.200
28 .200 7.200 7.200
AAHEE | FRBE 28 000 500 7200
28 .000 .300 7.200
28 .000 .300 7.200
28 .000 .300 7.200
28 .600 400 .600
28 7.600 7.400 .600
28 7.600 7.400 .600
28 7.600 X 7.400 .600
EER 28 8.000 200 7.200 200
28 8.000 7.200 7.200 7.200
28 7.600 6.600 6.600 6.600
28 7.600 6.600 6.600 6.600
28 .000 7.200 7.200 7.200
28 .000 7.200 7.200 7.200
28 .000 7.200 7.200 7.200
28 .000 7.200 7.200 . 7.200 A
RGBT -AKE | GEmB® 28 700 7,600 8,000 700 7,600 600
AKEF 28 6.000 5.500 5.500 6.000 5.500 6.900

JTA



[%BE5 L EEXR(10AIBERES)

B A A 2018/01/23 _~
P Py 7079
- F/IMTA| £18917B EITA| AITE
B;% ERE | ERE
KR (BER) =i (FRE) | KBr (BadE) 5 | 20.400 .400
[ 100 100
700 800
REE R | .700 .800
[ 000 900
20.400 400
1BRE=h 4% (IRE) BER .500 600
[ 500 600
[ 500 600
[ 500 600
[ 500 600
500 600
REmE R | .500 .600
[t 500 600
500 600
500
500
500
RRCRE)=R1E HR(PE) R ‘ggg
AER .900
100
RRCHE)=E& Ha CHE) % 29.900
BT 32.100
KR (&) =F 18 Al (BH7E) 26.700
i 26.700
M= EE () N7 25.300
S0 R % 25.300
BEE (PR =H4R (BB B E (PH) R 28 .700
28 700
28 200
28 200
RE) £ 28 .300
28 700
28 700
28 700
FEL=548 () Bl LLI 5% 28 .400
S0 R % 28 400
SRR (IR =R1E RGB! 28 7.900
28 .900
28 .900
28 .900
28 .900
28 7.900
28 7.900
RiER 28 7.900
28 7.900
28 7.900
28 7.900 .
28 8.900 900
28 8.900 7.900
28 7.900 .900
ROERT == G IE RS 28 7.700 .900
28 7.700 .900
28 7.700 .900
28 7.700 .900
28 7.300 300
28 7.300 300
28 7.300 300
28 7.300 300
S 28 7.700 .900
28 7.700 .900
28 7.300 300
28 7.300 300
28 7.700 .900
28 7.700 .900
28 7.700 .900
28 7.700 .900
R RE) =AKS | ks (RE) 5 28 7.600 300
AKBF 28 5.500 5.200

JTA



[R——5%1G1HEER(VAI~IBEES)

EEBEAB 2018/01/23 ~
9/3-9
=40 B2 FH ] Z—\—%15
HARIR 1 gﬁli W=
KR (BSE) =i#E (FRE) | KB (BSFE)F | _NU0OT | 55 .800 # 1:20.600
55 300 ££:17.200
55 500
RE) % 55 .500
55 100 H:17.600
55 500 H:20.200
1BRE=h 4% (IBE) EEEES 55 .300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300 | 63%
R CHE)=R1E R CHE) % 55 800 | 58% [2:+:29.400. H:26.800
U 55 7.800 | 58% | % +:20.400, H:26.800
AlEs u 55 900 | 64%
U 55 800 | 54% 31,500
RRCHE)=E& HE (FE) % | NU021 | 55 800 | 60% :26.400, H:24.700
BT U022 | 55 800 | 55% | H:28.500
KiE (@) =R1E s (BA75) % | NU083 | 55 800 | 54% | A:22.800
G % U086 | 55 100 | 56% 24,600
M= GRE) IV U037 | 55 600 | 57% |t H:23.800
g B % | NU 55 600 | 57% :23.800
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68% |+ H:14.800
U 55 000 | 68% [£:19.300. T H:14.800
P (FRE) % | _NU 55 000 | 68% [£:15.300. £:14.200. H:14.800
U 55 000 | 52%
U 55 000 | 52%
U 55 000 | 52%
L= (FR &) FL5E 55 300 | 45% 2125000
S0 R % 55 300 | _45%
W RH) =H1E RE) £ 55 6.700 74%
55 7.700 70%
55 7.700 70%
55 7.700 70%
55 700 4%
55 400 75%
55 400 75%
RiER 55 700 74%
55 700 4%
55 700 4%
55 400 75%
55 700 70%
55 7.700 70%
55 700 4%
SEE(BRE) =TS G IE IS 55 .900 65%
55 900 65%
55 900 65%
55 900 65%
55 200 68%
55 900 70%
55 900 70%
55 200 68%
HE 5 55 .900 65%
55 900 65%
55 200 68%
55 200 68%
55 900 65%
55 900 65%
55 .900 65% X
55 600 66% |-t H:6.900
PHE (BB =AKE | b CRE) % 55 500 46% | % T H:6.800
AKBF 55 800 60% |t H:5.100

JTA



TR—N—%FGIHEEXROA10~13BEEN)

EEEAA . 2018/01/23 ~
9/10-13
=] ga |, 70 _ A= %W
HAHR [T g gﬁli [
KR (BSE) =i#E (FRE) | KB (BSFE)F | _NU0OT | 55 .800
55 300
55 500
RE) % 55 500
55 100
55 500
1BRE=h 4% (IBE) [EEES 55 .300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300 | 63%
R CHE)=R1E R CHE) & 55 800 | 58%
U 55 7.800 | 58%
AlEs u 55 900 | 64%
U 55 800 | 54%
RRCHE)=E& Wa CHE) % | NU021 | 65 800 | 60%
BT 0022 | 55 800 | 56%
KiE (@) =R1E il (F75) % | NU0B3 | 65 800 | 58% | A AK:24.800
HEF U086 | 55 100 | 56%
M= EE () N7 U037 | 55 .600 57%
g B % | NU 55 600 | 57%
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68%
U 55 000 | 68%
RE) £ U 55 .000 68%
U 55 000 | 52%
U 55 000 | 52%
U 55 000 | 52%
FEIL=h48 () Rl LL ¢ 55 .300 45%
S0 R % 55 300 | _45%
W RH) =H1E RE) £ 55 6.400 75% | H:6.700
55 7.400 71% _|A:7.700
55 7.400 1% _|A:7.700
55 7.400 1% _|A:7.700
55 400 75% 6.700
55 400 75%
55 400 75%
RiER 55 400 75% | H:6.700
55 400 75% | B:6.700
55 400 75% | B:6.700
55 400 75%
55 400 7% 7.700
55 7.400 71% | B:7.700
55 400 75% 700
SEE(BRE) =TS G IE IS 55 .600 66% 1:6.900
55 600 66% | :6.900
55 600 66% | A:6.900
55 600 66% | A:6.900
55 900 70% | F:6.200
55 900 70%
55 900 70%
55 900 70% | A:6.200
HE 5 55 600 66% 900
55 600 66% | H:6.900
55 900 70% | F:6.200
55 900 70% 200
55 600 66% | H:6.900
55 600 66% | 5:6.900
55 600 66% 900
55 600 66%
ARBB-AKS | @B = 55 500 46%
AKBF 55 800 60%

JTA



TR—N\—%FGIHEEXR(9A26~308EFEN)

EEBEAB 2018/01/23 ~
9/26-30
=] ga |, 70 _ A= 5
HARIR 1 gﬁli W=
KR (BSE) =i#E (FRE) | KB (BSFE)F | _NU0OT | 55 .800 # 1:20.600
55 300 % 1:17.200
55 500
RE) % 55 .500
55 100 H:17.600
55 500 :20.200
1BRE=h 4% (IBE) [EEES 55 .300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300 | 63%
R CHE)=R1E R CHE) % 55 26.800 | _60% |/KA:27.200. % £:28.800
U 55 26.800 | _60% | /KA:27.200, % T:28.800
AlEs u 55 900 | 64%
U 55 200 | 56% 31,500
RRCHE)=E& Wa CHE) % | NU021 | 65 700 :25.800
BT 0022 | 55 200 | 56% 28,500
KiE (@) =R1E iz (FE78) % | NU0B3 | 55 800 | 54% | A:22.800
HEF U086 | 55 100 | 56% 24,600
M= GRE) N EE U037 | 55 800 | 48% | JKA:19.600
g B % | NU 55 800 | 48% | JKA:19.600
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68% | H.14.800
U 55 000 | 68% |2:19.300. £ H:14.800
P (FRE) % | _NU 55 000 | 68% |%:15.300, %:14.200. H:14.800
U 55 000
U 55 000
U 55 000
FEIL=h48 () Rl LL ¢ 55 .300
S0 R % 55 300 [E
W RH) =H1E RE) £ 55 6.700 Bl
55 7.700 [
55 7.700 [
55 7.700 [
55 700 7
55 700 7
55 .700 71
AlEs 55 700 7
55 .700 71
55 .700 71
55 .700 71
55 700 71
55 7.700 7
55 .700 71
SEE(BRE) =TS G IE IS 55 .900 7
55 900
55 900
55 900 B
55 200 7
55 200 7
55 200 B
55 200 B
HE 5 55 900 7
55 900 KA
55 200 68% | kA
55 200 68% | kA
55 900 65% | kA
55 900 65% | kA
55 900 65% | kA
55 900 65% | kA
P RE) =AKS | bkl (RE) % 55 800 44% | KA
AKEF 55 .100 58% [7KA

JTA



[R—N—%FIHEEXR(10A1~4BEBESD)

EEEAA . 2018/01/23 ~
10/1-4
=] ga |, 70 _ A= 5
HAHR [T g gﬁli [
KR (BSE) =i#E (FRE) | KB (BSFE)F | _NU0OT | 55 .800
55 300
55 500
RE) % 55 500
55 100
55 500
1BRE=h 4% (IBE) [EEES 55 .300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300 | 63%
R CHE)=R1E R CHE) & 55 200 | 50%
U 55 7200 | 59%
AlEs u 55 900 | 64%
U 55 200 | 56%
RRCHE)=E& Wa CHE) % | NU021 | 65 700 | _60%
BT 0022 | 55 200 | 56%
KiE (@) =R1E il (F75) % | NU0B3 | 65 800 | 58% | A AK:24.800
HEF U086 | 55 100 | 56%
M= EE () N7 U037 | 55 .600 57%
g B % | NU 55 600 | 57%
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68%
U 55 000 | 68%
RE) £ U 55 .000 68%
U 55 000 | 52%
U 55 000 | 52%
U 55 000 | 52%
FEIL=h48 () Rl LL ¢ 55 .300 45%
S0 R % 55 300 | _45%
W RH) =H1E RE) £ 55 6.400 75% | H:6.700
55 7.400 71% _|A:7.700
55 7.400 1% _|A:7.700
55 7.400 1% _|A:7.700
55 400 75% 6.700
55 400 75%
55 400 75%
RiER 55 400 75% | H:6.700
55 400 75% | B:6.700
55 400 75% | B:6.700
55 400 75%
55 400 7% 7.700
55 7.400 71% | B:7.700
55 400 75% 700
SEE(BRE) =TS G IE IS 55 .600 66% 1:6.900
55 600 66% | :6.900
55 600 66% | A:6.900
55 600 66% | A:6.900
55 900 70% | F:6.200
55 900 70%
55 900 70%
55 900 70% | A:6.200
HE 5 55 600 66% 900
55 600 66% | H:6.900
55 900 70% | F:6.200
55 900 70% 200
55 600 66% | H:6.900
55 600 66% | 5:6.900
55 600 66% 900
55 600 66%
ARBB-AKS | @B = 55 300 48%
AKBF 55 800 60%

JTA



[R—/IR—%BHEEXR(10A10~14BEES)

EEBEAB 2018/01/23 ~
T0/10-14
=] ga |, 70 _ A— %W
HARIR 1 gﬁli W=
KR (BSE) =i#E (FRE) | KB (BSFE)F | _NU0OT | 55 .800 # 1:20.600
55 300 % 1:17.200
55 500
RE) % 55 .500
55 100 H:17.600
55 500 :20.200
1BRE=h 4% (IBE) [EEES 55 .300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300
R CHE)=R1E R CHE) % 55 26.200 JKA27.200. % .:28.800
U 55 26.200 JKA:27.200. % :28.800
AER U 55 .900
U 55 200 | 56% 30.900
RRCHE)=E& Wa CHE) % | NU021 | 65 700 :25.800
BT 0022 | 55 200 | 56% 27.900
KiE (@) =R1E iz (FE78) % | NU0B3 | 55 800 | 54% | A:22.800
HEF U086 | 55 100 | 56% 24,600
M= GRE) N EE U037 | 55 800 | 48% | JKA:19.600
g B % | NU 55 800 | 48% | JKA:19.600
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68% | H.14.800
U 55 000 | 68% |%:17.900. L H:14.800
P (FRE) % | _NU 55 000 | 68% |%:15.300, %:14.200. H:14.800
U 55 000
U 55 000
U 55 000
FEIL=h48 () Rl LL ¢ 55 .300
S0 R % 55 300 [E
W RH) =H1E RE) £ 55 6.700 Bl
55 7.700 [
55 7.700 [
55 7.700 [
55 700 7
55 700 7
55 .700 71
AlEs 55 700 7
55 .700 71
55 .700 71
55 .700 71
55 700 71
55 7.700 7
55 .700 71
SEE(BRE) =TS G IE IS 55 .900 7
55 900
55 900
55 900 B
55 200 7
55 200 7
55 200 B
55 200 B
HE 5 55 900 7
55 900 KA
55 200 68% | kA
55 200 68% | kA
55 900 65% | kA
55 900 65% | kA
55 900 65% | kA
55 900 65% | kA
P RE) =AKS | bkl (RE) % 55 600 45% |k
AKEF 55 .100 58% [7KA

JTA



[R—/I—%BHEEXR(10A15~21BEES)

@EBAE : 2018/01/23 ~
10/15-21
=] ga |, 70 _ A—R—%H
BABR | any | E50 [
KIR (B7) =+ #0 (VB | AR (&) % | NUoOT | 66 800 220600
55 .300 £ +:17.200
55 .500
AL GO 36 55 500
55 .100 H:17.600
55 .500 H:20.200
1RRE=i0 48 (RE) EEEES 55 .300 60%
55 .300 60%
55 .300 63%
55 .300 63%
55 .300 63%
55 .300 63%
AL GO 36 55 300 | 634
55 .300 63%
55 .300 63%
55 .300 60%
55 .300 60%
55 .300 63%
RE(HE)=H1E HRE(CHHE) % 55 200 59% [#+:28.800, H:26.200
U 55 7.200 59% [#+:28.800, H:26.200
RiEH U 55 .900 64%
U 55 .200 55% :30.900
RR(PE)-BE W& CAE) & | NU021 | 55 700 -25.800
= U022 55 200 56% 27.900
KR () =R 18 iz (FE78) % | NU0B3 | 55 800 | 54% |:22,800
Hiag U086 55 .100 56% 24.600
INA=REE (BRER) IINB B uo37 55 .600 57% &+ H:23.800
PR (FRER) U 55 .600 57% H:23.800
B (A =l GIVW)| % & 2 (Fh#h) 5[ NU 55 000 | 574
U 55 .000 52%
U 55 .000 68% |+ H:14.800
U 55 .000 68% [#£:17.900, £ H:14.800
RGNS & U 55 .000 68% [#:15.300, +:14.200. H:14.800
U 55 .000 52%
U 55 .000 52%
U 55 .000 52%
=4k (3ER) [FATE 55 .300 45% |4 +:25.000
PR (FRER) 55 .300 45%
MO =RE | 0GR % 55 6.700 | 74%
55 7.700 70%
55 7.700 70%
55 1.700 70%
55 700 74%
55 400 75%
55 .400 75%
RIEFR 55 .700 74%
55 .700 74%
55 .700 74%
55 .400 75%
55 700 70%
55 1.700 70%
55 .700 74%
ETIE - T e 55 900 | 65%
55 .900 65%
55 .900 65%
55 .900 65%
55 .200 68%
55 .900 70%
55 .900 70%
55 .200 68%
S 55 .900 65%
55 .900 65%
55 .200 68%
55 .200 68%
55 .900 65%
55 .900 65%
55 .900 65% .
55 .600 66% = .900
R BB =AXS ShiE (FRER) 55 .300 48% = .600
AKES 55 .800 60% = .100

JTA



TR—/—%BIEER(10822~27BEES) JTA

EEEMAR ;- 2018/01/23 ~

T0/22-27
=40 B2 FH ] Z—\—%15
HARIR 1 gﬁli W=
KR (BSE) =i#E (FRE) | KB (BSFE)F | _NU0OT | 55 .800 # 1:20.600
55 300 ££:17.200
55 500
RE) % 55 .500
55 100
55 500
1BRE=h 4% (IBE) EEEES 55 300 60%
55 300 | 60%
55 300 | 63%
55 300 | 63%
55 300 | 63%
55 300 | 63%
RE) % 55 .300 63%
55 300 | 63%
55 300 | 63%
55 300 | 60%
55 300 | 60%
55 300 | 63%
R CHE)=R1E R CHE) & 55 200 | 59% [21:28.800
U 55 7.200 | 59% |%+:28.800
RiER U 55 900 | 64%
U 55 200 | 56%
RRCHE)=E& Wa CHE) % | NU021 | 65 700 | 60% |2 125800
BT U022 | 55 200 | 56%
KiE (@) =R1E il (F75) % | NU0B3 | 65 800 | 54% [A:22.800
G % U086 | 55 100 | 56%
M= GRE) N EE U037 | 55 600 | 57% [21:23.800
g B % | NU 55 600 | 57% [2+:23.800
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 52%
U 55 000 | 52%
U 55 000 | 68% | £:14.800
u 55 000 | 68% [£:17.900. £:14.800
ARG % [_NU 55 000 | 68% |A%:15300, £:14.200
U 55 000 | 52%
U 55 000 | 52%
U 55 000 | 52%
L= (FR &) FL5E 55 300 | 45% 2125000
S0 R % 55 300 | _45%
W RH) =H1E RE) £ 55 6.700 7
55 7.400 7
55 7.400 7
55 7.400 7
55 700 7
55 400 75%
55 400 75%
AlEs 55 700 74%
55 700 4%
55 700 4%
55 400 75%
55 700 70%
55 7.700 70%
55 700 4%
SEE(BRE) =TS G IE IS 55 900 65%
55 900 65%
55 600 66%
55 600 66%
55 200 68%
55 900 70%
55 900 70%
55 900 70%
HE 5 55 .900 65% 6.
55 .900 65% | 7K A:6.600
55 200 68% R,
55 200 68% R,
55 900 65% 6.
55 900 65% K.
55 900 65% 6.
55 600 66%
SPRGBE=ARE [ hEGRE) 55 300 48%
AKBF 55 800 60%




EEBEAB 2018/01/23 ~

9/1 9/2
FH A—i—%# | R—ri—%#&

B B8 | AR [ T ap

B B

KR (BER) =348 (FRER) | KB (BS#E) % | _NU0OI 55 .900 .600
55 900 300

55 500 500

RE) % 55 .500 500

55 500 600

55 300 200

1BRE=h 4% (IBE) EEEES 55 .300 .300
55 300 300

55 300 300

55 300 300

55 300 300

55 300 300

RE) % 55 .300 .300

55 300 300
55 300 300
55 300 300
55 300 300
55 300 300
RR(CRR)=R1E HR(PE) R 55 29.400 26.800
55 29.400 26.800
AlEs 55 23,900 23.900
55 28.700 31.500
RRCHE)=E& ()% 55 26,400 24.700
BT 55 25,700 28,500
KiE (@) =R1E K (PP % 55 27.200 7.200
G % 55 26,500 7.000
M= EE () N7 U 55 .800 .800
g B % | NU 55 800 800
BEE (PR =148 ()| B EE (P8 R _NU 55 .000 .000
U 55 000 000
U 55 800 800
U 55 800 800
RE) £ U 55 .200 .800
U 55 000 000
U 55 000 000
U 55 000 000
=304 (B E) FLL% 55 25,000 300
S0 R % 55 21,300 25,000

W RH) =H1E RE) £ 55 6.700 6.700
55 7.700 7.700

55 7.700 7.700

55 7.700 7.700

55 700 700

55 700 700

55 700 700

AlEs 55 .700 700

55 700 700

55 700 700

55 700 700

55 700 700

55 7.700 7.700

55 700 700

SEE(BRE) =TS G IE IS 55 .900 .900
55 .900 .900

55 .900 .900

55 .900 .900

55 .200 .200

55 .200 .200

55 .200 .200

55 .200 .200

HE 5 55 .900 .900

55 .900 .900

55 .200 .200

55 .200 .200

55 .900 .900

55 .900 .900

55 .900 .900

55 .900 .900

R =AKE | hE B & 55 .800 800
AKBF 55 100 100

[R—N—%GIHEEXROR1~2BEES)

JTA



EEEAR 2018/01/23 ~

9/14 9/18 9/19 9/20
FH A= —% 2—ri—5%8 | A—ri—x® | 2—i—x8

L B% | mamm oo mam | mmm | =

ER ETAE EE EE

KR (R78) =48 (IVER) | KBR (BIZE) % | NU0Oi | 56 20,200 7.800 7.800 7.800
55 .300 .300 .300 .300

55 .700 .500 .500 .500

ETAEE k] 55 500 500 500 500

55 .100 .100 .100 .100

55 .500 .500 .500 .500

EE-AA B FTRE 55 300 300 300 300
55 .300 .300 .300 .300

55 .300 .300 .300 .300

55 .300 .300 .300 .300

55 .300 .300 .300 .300

55 .200 .300 .300 .300

ETAEE k] 55 1300 1300 1300 1300

55 .300 .300 .300 .300

55 .300 .300 .300 .300

55 .300 .300 .300 .300

55 .300 .300 .300 .300

55 .300 .300 .300 .300

RR(PE)=R1E HRCHA)H 55 29.400 .200 .200 .200
U 55 29.400 '7.200 7.200 7.200

REH U 55 23.900 23.900 23.900 23.900

U 55 30.800 0.200 0.200 0.200

RRCAB)=-Bd T CHE) 5 uo2i | 55 26,400 4,700 4,700 4,700
o U022 55 '7.800 7.200 7.200 7.200

PNAC I PN A E D U083 | 55 800 800 800 800
HiE% U086 55 .100 .100 .100 .100

IR G E) IS U037 |55 800 600 600 600
SR (FRER) 5 U 55 .800 .600 .600 .600
BEE(PED) =4k (BH)| BHE () S _NU 55 .000 .000 .000 .000
U 55 .000 .000 .000 .000

U 55 .800 .200 .000 .000

U 55 .400 4.200 4,000 4,000

BT k] U 55 300 4,800 4,000 4,000

U 55 .000 .000 .000 .000

U 55 .000 .000 .000 .000

U 55 .000 .000 .000 .000

L= G E) ENTES 55 25,000 1300 1300 1300
PR (FRER) 55 21.300 .300 .300 .300

W) -RE i (BN 3 55 6.700 6.400 6.400 6.400
55 7.700 7.400 7.400 7.700

55 7.700 7.400 7.400 7.700

55 7.700 7.400 7.400 7.700

55 .700 .400 .400 .400

55 .700 .400 .400 .400

55 .700 .400 .400 .400

EE% 55 700 400 400 400

55 .700 .400 .400 .400

55 .700 .400 .400 .400

55 .700 .400 .400 .400

55 700 400 400 400

55 7.700 7.400 7.400 7.400

55 .700 .400 .400 .400

B RT)=EE i IR ER) ¢ 55 .900 .600 .600 .600
55 .900 .600 .600 .600

55 .900 .600 .600 .900

55 .900 .600 .600 .900

55 .200 .900 .900 .900

55 .200 .900 .900 .900

55 .200 .900 .900 .900

55 .200 .900 .900 .200

EER 55 .900 600 600 600

55 .900 .600 .600 .600

55 .200 .900 .900 .900

55 .200 .900 .900 .900

55 .900 .600 .600 .600

55 .900 .600 .600 .600

55 .900 .600 .600 .600

55 .900 .600 .600 .600

iR (RE) =AXKE hiE (ADER) 5 55 800 500 500 500
AKEF 55 .100 .800 .800 .800

JTA



IEEXROA2~258EFES) JTA
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=40] Ea

KR (BAE) =ik (RF) | KR () % oot

ik (RER) R

1BRE=h 4% (IBE) [EEES

iR (RER) R

RRCRR) =R\ R CRE) %

RER U
FRCAE)-B& | EECAE)%E | NUo21 |
o U022
R EE)-EE | %0 (B % | NU0ss
Hiag U086
IR (8 N 1037
PR (FRER) U
BEE (D) R ()| 2 & E (R ) 5[ _NU

iR (RER) R U

FEIL=h48 () Rl LLi 5
i (IER)

W (BF)=1E ik (RER) R

BER

() =B ik () R

R (R =AKE shif (BREH) ¢
AKEH




EEEMA . 2018/01/23 ~
10/5
FH A5
= B2 | mame o
%
KR () - g | KR (B&) % | NUoot | 55 70500
55 200
55 .600
ARAT R 55 200
55 .000
55 .600
TR D) FE 55 700
55 700
55 700
55 .900
55 .900
55 .900
ARAT R 55 400
55 .600
55 .200
55 8.700
55 8.700
55 7.300
RROIEFE | AR E 55 2.700
U 55 0.900
P U 55 7.600
U 55 2.100
RRCPE)-Ba HE CPE) % | NU021 |65 3.600
= U022 55 32.800
KR (B8#8)=H1E KBy (BR7E) ¢ U083 55 25,600
Hia U086 55 .600
N R N U037 |55 500
ShiE (FRER) U 55 .800
BEE (D E) R RE)| £ &% (PH) 3| _NU 55 200
U 55 .200
U 55 .200
U 55 20.800
AR R [N 55 17100
U 55 28.500
U 55 28.500
U 55 28.500
EIT==Ae ) T 55 35,000
ShiB (FRER) 55 21.300
FIEEAE - e F 55 6.700
55 7.700
55 7.700
55 7.700
55 .700
55 .700
55 .700
RIEHR 55 .700
55 .700
55 .700
55 .700
55 700
55 7.700
55 .700
FROE-EE | FRTE 55 500
55 .900
55 .900
55 .900
55 .200
55 .200
55 .200
55 .200
BEHE 55 .900
55 .900
55 .200
55 .200
55 .900
55 .900
55 .900
55 .900
AT =AXKE ShE (ARER) ¢ 55 .600
AKES 55 .100

JTA



TSR FIEER(OAI~IBEES)

EE®AL . 2018/01/23 ~
9/3-9
=] ga |, 70 TSR
BANR g | BEW wE
il VL "
KRR (BE7E) =348 (ARER) | KPx(BIF)F |[_NU0OT 7! 17.000 56% |#+:19.700
7! 8.300 78%
7! .100 68%
EIC e 7 100 | _68%
7! .300 3 H:16.700
7! .500 H:19.200
TER=5 8 5 % 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
EICEE RN 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
RE(HE)=H1E HRE(CHHE) % 7! 26.800 60% [ +:28.400, H:25.800
U 7! 26.800 60% [#+:28.400, H:25.800
RiE%R U 7 23,300
U 7! 29.800
R (HE) =2 HECHE) uo2 7! 24,000
= U022 7! 26.800 .
KBz (BS#E) =R 1E PN U083 7! .800 56% K:21.800
Hiag U086 7! .100 57%
INE= R (I ER) AR w037 | 7 400 | 584
PR (FRER) U 7! .400 58%
BEE (PE) =8 (5)| & =2 (P H) 5| _NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.000 72% [H:12.600, £:12.500. + H:13.800
U 7! 12.000 72% [H:12.600, £:18.500. + H:13.800
RGNS & U 7! 12.500 71% [H:13.200, £:14.300, +:13.600. H:13.800
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [FATE uot 7! 21.100 45% | +:24.800
PR (FRER) uot 7! 21.100 45% | H:24.800
e HRRE % | | 7 6,200 | 76% | XIKA:5900
7! 7.200 2% A XK:6.900
7! 7.200 2% A XK:6.900
7! 7.200 2% A XK:6.900
7 .200 76% | KIKAK:5.900
7! .900 77%  [#4 .200
7! .900 7% (2 .200
RiER 7 ,200 76% | XIKA:5.900
7 .200 76% | KIKAK:5.900
7 .200 76% | KIKAK:5.900
7 .900 ESE .200
7 200 72% | :KIKAK:6.900
7 7.200 72% | KIKAK:6.900
7 .200 76% | :KIKAK:5.900
EIe I ERE) % | | 7 200 | 68% | JUKA:5.900
7 .200 68% | K7KAK:5.900
7 .200 68% | A 47K:5.900
7 .200 68% | A 47K:5.900
7 .200 73% | KIKAK:4.900
7 .900 75% |24 .200
7 .900 75% [& .200
7 .200 73% | A AK:4.900
S 7 .200 68% | KIKA:5.900
7 .200 68% | KIKAK:5.900
7 .200 73% | :KIKK:4.900
7 .200 73% | :KIKK:4.900
7 .200 68% | KIKAK:5.900
7 .200 68% | KIKA:5.900
7 .200 68% JKK:5.900
7! .900 70% = .200
R BB =AXS ShiE (FRER) 7 .500 55% = .800
AKEF 7 .300 64% = .600

JTA



TS5 RBIEER(OAI10~13AEES)

WEEAA . 2018/01/23 ~
9/10-13
FH IINSER
= B2 | ABR [ [EER o
il VL "
KR (BT =5+ (FH) | AR (BIg) % | NUOOT | 7 17,000 | 56%
7! 8.300 78%
7! .100 68%
G % | 7 100 | _68%
7! .300 3
7! .500
TR =4 () wERE 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
G % | ! 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
R CAE)-R1E R (CAE) % 7 26800 | 60%
U 7! 26.800 60%
RIEFR U 7! 23.300 65%
U 7! 29.800 55%
R (HE) =2 HECHE) uo2 7! 24.000 61%
= U022 7! 26.800 57%
KBz (BS#E) =R 1E KBy (BR7E) ¢ U083 7! .800 60% [ B X7k:23.800
Hiag U086 7! .100 57%
N GV ER) AR w037 | 7 400 | 58%
PR (FRER) U 7! .400 58%
BEE (PED) =94 ()| & 2 (PER) [ NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.000 72% | H:12.600
U 7! 12.000 72% | A:12.600
(I8 U 7! 12.500 1% [ A:13.200
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [ElTE: S uot 7! 21.100 45%
PR (FRER) uot 7! 21.100 45%
EXEE St I E 7 900 | 77% | 7:6.200
7! .900 73% | A:7.200
7! .900 73% | A:7.200
7! .900 73 K:7.200
7! .900 77 6.200
7! .900 77
7! .900 77
RIEFR 7 .900 77 H:6.200
7! .900 77 H:6.200
7! .900 77 H:6.200
7! .900 77
7! .900 73 | B:7.200
7! .900 73% 7.200
7! .900 7% 1:6.200
G =B & ERE) % | | 7 900 | 70% | 55:6.200
7! .900 70% 1:6.200
7! .900 70% | 4:6.200
7! .900 70% | A:6.200
7! .900 75% | H:5.200
7! .900 75%
7! .900 75%
7! .900 75%
S 7 .900 70%
7! .900 70%
7! .900 75%
7! .900 75%
7! .900 70%
7! .900 70%
7! .900 70%
7! .900 70%
R BB =AXS shid (AF) 7 .500 55%
AKEF 7 .300 64%
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TS5 RB I EER(9A26~30BEES)

=40]

T
AR

9/26-30

ISR

%5

KR (BAE) =50k (AR ER)

KR (Bi#E) f [ NU0OT

£1:19.700

ik (RER) R |

H:16.700

H:19.200

1BRE=h 4% (IBE)

[EEES

ik (RER) R |

RRCRR) =R\

R CRE) %

7K A:26.200, £1:27.800

BER U

7k AK:26.200, £1:27.800

RRECAR)=8EH

W CHE) # uo2
e

KR (BFE)=H1E

ot

4 2

KB (BHPE) 5 U083
HiE% U086

v

MR=3EE GIRER)

N7 U

SR (AE) U

BEE (PED) =ik (RE)

BEE (PR 5| _NU

£:12.500, £ H:13.800

£:18.500, + H:13.800

iR (RER) R U

£:14.300, +:13.600. H:13.800

FEIL=3#8 IR &)

BL%E Uoi

i (IER) uot

W (BF)=1E

iR (RER) R | L

BER

() =B

ik (RER) R | L

R (R =AKE

shid (AF)

AKEH
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TSR GIERER(10A1~4BEESD)

EE®AL . 2018/01/23 ~
10/1-4
Fi IINSER
= B2 | ABR [ [EER o
il VL m
KI (BEE) =+ #8 (h8) | ABR (%)% | _NUoOT | 7 17,000 | 56%
7! 8.300 78%
7! .100 68%
EIC e 7 100 | _68%
7! .300 3
7! .500
TER=5 8 5 % 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
EICEE RN 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
R (HE)-RE RRCHE) % 7 26.200
U 7! 26.200
RIEHR U 7! 23.300 65%
U 7! 29.200 56%
R (HE) =2 HECHE) uo2 7! 24.000 61%
= U022 7! 26.200 58%
KBz (BS#E) =R 1E KBy (BR7E) ¢ U083 7! .800 60% [ B X7k:23.800
Hiag U086 7! .100 57%
INE= R (I ER) AR w037 | 7 400 | 584
PR (FRER) U 7! .400 58%
BEE (PE) =8 (5)| & =2 (P H) 5| _NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.000 72% | H:12.600
U 7! 12.000 72% | A:12.600
(I8 U 7! 12.500 1% [ A:13.200
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [ElTE: S uot 7! 21.100 45%
PR (FRER) uot 7! 21.100 45%
e HRRE % | | 7 900 | 77% | 6200
7! .900 73% | A:7.200
7! .900 73% | A:7.200
7! .900 73 K:7.200
7! .900 77 6.200
7! .900 77
7! .900 77
RIEFR 7 .900 77 H:6.200
7! .900 77 H:6.200
7! .900 77 H:6.200
7! .900 77
7! .900 73 | B:7.200
7! .900 73% 7.200
7! .900 7% 1:6.200
G =B & ERE) % | | 7 900 | 70% | F:6.200
7! .900 70% 1:6.200
7! .900 70% | 4:6.200
7! .900 70% | A:6.200
7! .900 75% | H:5.200
7! .900 75%
7! .900 75%
7! .900 75%
S 7 .900 70%
7! .900 70%
7! .900 75%
7! .900 75%
7! .900 70%
7! .900 70%
7! .900 70%
7! .900 70%
R BB =AXS ShiE (FRER) 7 .300 56%
AKEF 7 .900 68%
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TS5 RBIEER(10A10~14BEESD)

=40]

T
AR

10/10-14

ISR

%5

KR (BAE) =50k (AR ER)

KR (Bi#E) f [ NU0OT

£1:19.700

ik (RER) R |

H:16.700

H:19.200

1BRE=h 4% (IBE)

[EEES

ik (RER) R |

RRCRR) =R\

R CRE) %

BER U

7K A:26.200, £1:27.800

7k AK:26.200, £1:27.800

RRECAR)=8EH

H:29.900

W CHE) # uo2
e

KR (BFE)=H1E

4 2

KB (BHPE) 5 U083
HiE% U086

v

MR=3EE GIRER)

N7 U

SR (AE) U

BEE (PED) =ik (RE)

BEE (PR 5| _NU

£:12.500, £ H:13.800

£:17.000, £ H:13.800

iR (RER) R U

£:14.300, +:13.600. H:13.800

FEIL=3#8 IR &)

BL%E Uoi

i (IER) uot

W (BF)=1E

iR (RER) R | L

BER

() =B

ik (RER) R | L

R (R =AKE

shid (AF)

AKEH
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TS5 RBIEER(10A15~21BEED)

WEEAA . 2018/01/23 ~
10/15-21
I ILNSRF
B B | im 2ng W =
il VL "
KRR (BE7E) =348 (ARER) | KPx(BIF)F |[_NU0OT 7! 17.000 56% |#+:19.700
7! 8.300 78%
7! .100 68%
G % | 7 100 | 684
7! .300 3 H:16.700
7! .500 H:19.200
TR =4 () wERE 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
G % | ! 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
RE(HE)=H1E HRCHA)H 7! 26.200 % +:27.800. H:25.200
U 7! 26.200 £ +:27.800. H:25.200
RiE%R U 7 23,300
U 7! 29.200
R (HE) =2 HECHE) uo2 7! 24.000
= U022 7! 26.200
KBz (BS#E) =R 1E PN U083 7! .800
Hiag U086 7! .100
N GV ER) AR w037 | 7 400
PR (FRER) U 7! .400
BEE (PED) =94 ()| & 2 (PER) [ NU 7 20500
U 7! 12.000 72% [H:12.600, £:12.500. + H:13.800
U 7! 12.000 72% [H:12.600, £:17.000. 1 H:13.800
AR (GIRER) R U 7! 12.500 71% [H:13.200, £:14.300, +:13.600. H:13.800
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [FATE uot 7! 21.100 45% | +:24.800
PR (FRER) uot 7! 21.100 45% | H:24.800
EXEE St HRRE % | | 7 6200 | 76% | JUKA:5.900
7! 7.200 2% A XK:6.900
7! 7.200 2% A XK:6.900
7! 7.200 2% A XK:6.900
7! .200 76% | KIKAK:5.900
7! .900 77%  [#4 .200
7! .900 7% (2 .200
RiER 7 ,200 76% | XIKAK:5.900
7! .200 76% | KIKAK:5.900
7! .200 76% | KIKAK:5.900
7 .900 ESE .200
7! 200 72% | :KIKAK:6.900
7! 7.200 72% | KIKAK:6.900
7! .200 76% | :KIKAK:5.900
G =B & G % | ! 7 200 | 68% [JKA:5900
7! .200 68% | K7KAK:5.900
7 .200 68% | A 47K:5.900
7 .200 68% | A 47K:5.900
7 .200 73% | KIKAK:4.900
7 .900 75% |24 .200
7 .900 75% [& .200
7 .200 73% | A AK:4.900
S 7 .200 68% | KIKA:5.900
7! .200 68% | KIKAK:5.900
7! .200 73% | :KIKK:4.900
7! .200 73% | :KIKK:4.900
7! .200 68% | KIKAK:5.900
7! .200 68% | KIKA:5.900
7 .200 68% JKK:5.900
7! .900 70% = .200
R BB =AXS ShiE (FRER) 7 .300 56% = .600
AKEF 7 .900 68% = 200

JTA
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WEEAA . 2018/01/23 ~
10/22-27
I ILNSRF
B B | im 2ng W =
il VL "
KRR (BE7E) =348 (ARER) | KPx(BIF)F |[_NU0OT 7! 17.000 56% |#+:19.700
7! 8.300 78%
7! .100 68%
G % | 7 100 | _68%
7! .300 3
7! .500
TR =4 () wERE 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
G % | ! 7 000
7! .000
7! .000
7! .000
7! .000
7! .000
R CAE)-R1E RRCHE) % 7 26200 £ 127800
U 7! 26.200 & +:27.800
RIEFR U 7! 23.300 65%
U 7! 29.200 56%
R (HE) =2 W CHE) # uo2 7! 24.000 61% [#+:24.800
= U022 7! 26.200 58%
KBz (BS#E) =R 1E KBy (BR7E) ¢ U083 7! .800 56% | A:21.800
Hiag U086 7! .100 57%
INA=REE (BRER) IINB B uo37 7! .400 58% |#+:23200
PR (FRER) U 7! .400 58% |#+:23.200
BEE (PED) =94 ()| & 2 (PER) [ NU 7 20600 | 52%
U 7! 20.600 52%
U 7! 12.000 72% [H:12.600, £:12.500. +:13.800
U 7! 12.000 72% [H:12.600, £:17.000. +:13.800
AR (GIRER) R U 7! 12.500 71% [H:13.200, K£:14.300. 1:13.600
U 7! 20.600 52%
U 7! 20.600 52%
U 7! 20.600 52%
=4k (3ER) [FATE uot 7! 21.100 45% | +:24.800
PR (FRER) uot 7! 21.100 45%
EXEE St I E 7 200 | 76%
7! .900 73%
7! .900 73%
7! .900 73%
7! .200 76%
7! .900 7%
7! .900 7%
RIEHR 7 .200 76%
7! .200 76%
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